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Verbal Reasoning - Writing Task
The time allotted is 35 minutes.

Read the task that appears in the box below carefully and then write your essay on the essay answer
sheet.

The essay should be at least 25 lines long, and not longer than the number of lines on the answer sheet.
If you wish to make a rough draft, use the page provided. (The draft will not be marked.) You will not
receive an additional answer sheet, nor will you be allowed to replace the one you have.

You may write the essay in one of the following languages: Hebrew, English, Russian, German,
Amharic, Italian, Hungarian, Portuguese or Dutch.

Use a style that is consistent with academic writing. Make sure your essay is well organized and
written in clear, grammatically correct language.

Write the essay in pencil. Make sure your handwriting is legible and neat. You may use an eraser.

Note: The words appearing against a gray background are translated into several languages at the
bottom of each page.

The history of competitive sports is almost as ancient as the history of humankind itself, and sports
competitions were held in almost every culture. In ancient times, sports competitions helped to
improve the abilities of hunters, fishermen, and the like, and sometimes were even part of religious
rituals. Nowadays, too, competitive sports play an important role in the life of individuals and
society, and millions of people watch sports competitions every day.

In your opinion, how do competitive sports benefit people and society today? Give reasons
for your opinion.

English Pycckmi Portugués Deutsch Italiano
competitive COpPEBHOBATENbHbII competitivo Wettbewerbs- competitivi
rituals pUTYyanbl ritual Kult riti

role yskuus papel Rolle ruolo
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Verbal Reasoning

This section contains 20 questions.
The time allotted is 20 minutes.

This section consists of several types of questions: analogies, critical reading and inference questions,
and reading comprehension questions. Each question is followed by four possible responses. Choose
the one which best answers the question and mark its number in the appropriate place on the answer
sheet.

Note: The words appearing against a gray background are translated into several languages
at the bottom of the page.

Analogies (Questions 1-5)

Each of the following questions contains a pair of words in bold type. Find the relationship between the
meanings of these two words, and then choose from among the possible responses the one in which the
relationship between the two words is most similar to the relationship you have found.

Note: The order of the words in each pair is significant.

1. fall : railing -

(1) disease : bacteria
(2) disease : physician
(3) disease : medicine
(4) disease : vaccine

2. correspondence : letter -

(1) inhalation : air

(2) publication : book
(3) argument : agreement
(4) dialogue : statement

English Pycckuit Portugués Deutsch Italiano

railing nepuna grade Geléander parapetto, ringhiera
vaccine BaKIMHa vacina Impfung vaccino
correspondence | mepemnmcka ato de corresponder-se Schriftwechsel corrispondenza
inhalation BJIOX aspiragdo Einatmen inalazione
publication n3JaHne publicacio Verotfentlichung pubblicazione
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3. hoped : was disappointed -
(1) raged : was infuriated
(2) saved up : was wasted
(3) predicted : was surprised
(4) chose : could not decide
4.  ride : destination -
(1) advice : decision
(2) concern : attention
(3) dispute : compromise
(4) step : walking
S. falling leaves : foliage -
(1) getting undressed : clothing
(2) going bald : baldness
(3) catching fire : fire
(4) getting tipsy : liquor
English Pycckuit Portugués Deutsch Italiano
raged cepauica embravejou wiitend incollerito
was infuriated OBIT B APOCTU enfureceu-se geriet in Wut era infuriato
was wasted 611 pactpauen | foi desperdicado vergeudet era sprecato
predicted npeaBuien previu vorausgesagt previsto
could not decide | comHeBancsa nao conseguia decidir | unentschieden hon riusciva a
decidere
. . Meinungs- . .
dispute KOH(JIUKT conflito verschiedenheit disputa, conflitto
falling leaves JcTonaj desfolhamento Fall-Laub foglie morte
(autunnali)
foliage JIUCTBS folhagem Laub fogliame
getting undressed | oOHa)keHue ato de despir-se sich entkleiden spogliarsi
baldness JIbICHHA careca Glatze calvizie
getting tipsy HATUThCS ato de embebedar-se beschwipst werden | essere alticcio
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/ Critical Reading and Inference Questions (Questions 6-14)

6. At a conference on innovative crime-fighting technologies, different companies presented the
lie detectors that they manufacture. The representative of Alkazav boasted about an experiment
in which his company's lie detector successfully identified ninety percent of the lies told by the
subject, while those of competing companies managed to identify no more than fifty percent of
the lies. However, the representative omitted an important piece of information that proves that
the lie detector he is selling is actually worthless.

Which of the following is most likely to be the piece of information that he omitted?
(1) The experiment was funded by Alkazav.
(2) In areplication of the experiment, Alkazav's lie detector did not demonstrate greater
capabilities than those of competing companies.
(3) Alkazav's lie detector also identified ninety percent of the subject's truthful statements as
lies.
(4) Earlier models of the lie detectors manufactured by Alkazav were found to be unreliable.
English Pycckmit Portugués Deutsch Italiano
/ innovative MHHOBAIOHHBIE inovadoras neuartig innovative
lie detectors NETEKTOPBI JIKI detec't ores de Liigendetektor rilevatori di
mentira menzogne
boasted XBaJIHJIICS gabou-se briistete sich mit si € vantato
subject YHACTHUK o sujeito testado Testperson soggetto
ACCIENOBaHNSA
/ competing KOHKYpHpYIOLLHe concorrentes Konkurrenz concorrenti
omitted yMoITyai omitiu iberging ha omesso
funded (bunaHCHpOBana foi financiado finanziert era finanziato
replication BOCCTAaHOBIICHUE reconstrugdo Wiederholung ripetizione
/ unreliable HEHAJIE)KHbIE ndo confidveis unzuverlissig inaffidabili
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experiencing boredom.
(3) Humans are likely to become bored when they have nothing to engage their emotions.
(4) Animals find the stimuli they need for playing, while humans invent them.

Which of the following cannot be inferred from Nietzsche's words?

(1) Man invented play in order to relieve the boredom he feels.
(2) The absence of horizons extending to the past and the future is what prevents animals from

The philosopher Friedrich Nietzsche wrote: "Man, the creature of consciousness, whose
horizons extend to the past and to the future, rarely attains complete fulfillment within the
present, and for this reason experiences something most likely unknown to any animal, namely
boredom. This strange creature seeks a stimulus to release him from boredom. If no such
stimulus is readily available, it simply needs to be created. Man becomes the animal that plays.
Play is an invention that engages the emotions; it is the art of stimulating emotions."

o

Which of the following weakens the conclusion?

Given: Most of the dogs who contract yawning sickness eat BowWow dog food.
Conclusion: BowWow dog food causes yawning sickness.

(1) BowWow is a very expensive dog food, and not many dog owners feed it to their dogs.
(2) Most of the dogs that do not eat BowWow do not contract yawning sickness.

(3) It says on the BowWow package that the food is suitable for dogs of every breed and size.
(4) Many dog owners believe that BowWow alleviates the pain caused by yawning sickness.

English

Pyccknit

Portugués

Deutsch

Italiano

creature

CymecTBO

criatura

Geschopf

creatura

consciousness

CO3HaHUE

consciéncia

Bewusstsein

consapevolezza

horizons

TOPM3OHTBI

horizontes

Blickfeld

orizzonti

attains complete
fulfillment

IIOTHOCTBIO
YAOIETBOPEH

alcanca satisfacdo

sich ganz befriedigt
fiihlen

raggiunge una
soddisfazione

boredom

CKYKa

tédio

Langeweile

noia

stimulus,
stimulating

CTUMYTI,
CTUMYNTMPOBaHNe

estimulo,
estimulante

Reiz, anregend

stimolo, stimolare

to be inferred

BBITCKAaET

deduzido

folgt aus

non si puo evincere

to relieve

pasBeAThb

aliviar

abhelfen

vincere (noia)

weakens

ocnabnsaer

enfraquece

schwicht

indebolisce

breed

TIOPOJIbI

racas

Rassen

razza

alleviates

obrerqaer

alivia

erleichtert

allevia
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9. A short autobiographical story contained the following: "When I lived in Burma, I was hated by
many people. Bitter anti-European sentiment ran high. No one dared to start a riot, but if a
European woman walked alone through the marketplace, someone would almost certainly spit
Indian pepper juice on her dress. Since I was also a police officer, I was a natural object of
attack, and they would provoke me so long as there was no threat of danger involved. When a
fast-footed Burmese knocked me down on the football field, the crowd roared with revolting
laughter."
Which of the following figures is most likely to be the author of the autobiography from which
the excerpt was taken?
(1) A Burmese who left Burma and is now serving in the police force in another country
(2) A Briton who began serving in the Burmese police force when Burma was ruled by Britain,
and has remained in Burma ever since
(3) A Burmese who once worked as a policeman outside of Burma
(4) A Briton who worked as a policeman in Burma when it was ruled by Britain
/ English Pycckmnii Portugués Deutsch Italiano
dared OCMeNNIICS ousava wagte osava
riot 6ecropsiKI desordem Aufruhr tumulto
spit TUTIOET cuspir spucken avrebbe (...) sputato
object 00beKT objeto Objekt, Ziel obiettivo
/ provoke IPOBOLVIPYIOT provocar provozieren provocare
roared paspaswmics urrou, gargalhou briillte ruggi
revolting OTBPAaTUTENIbHBIN revoltante abstoflend di rivolta
excerpt nurTara trecho Textauszug passo
/ to rule yIpaBsiia dominava regiert era governata

The test or any part of it may not be taught, copied or distributed in any form or by any means without written permission from the National
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The following instructions relate to questions 10-12.

In each question, there is a sentence (or sentences) with several parts missing, followed by four

possible ways of completing the sentence. Complete each sentence, using the response that is

most appropriate.

10. "I always thought that the teacher, Mr. Mekam, was ," said Ms. Shapira, the principal, "so
I was to discover that he speaks about me with when I am not present, since I had
believed that the praise I heard from him was flattery."

(1) ahypocrite / surprised / admiration even / mere

(2) asincere person / surprised / contempt / mere

(3) ahypocrite / not surprised / admiration even / not just

(4) asincere person / not surprised / admiration even / mere

/ 11. forgotten to go to the clinic for a checkup, . Asthe saying goes: " "

(1) Indeed, I had/ but I did not manage to get another appointment / All's well that ends well

(2) Since I had / my pain did not get any better / Every delay has its blessings

(3) Had Inot/I would not be enjoying myself at the beach right now / Things turn out for the
best

(4) Had I/1 would have had to wait a month for the next appointment / Don't count your
chickens before they are hatched

12. Is there an upper limit to sound intensity? Many physicists refuse to accept the claim that the
answer to this question is ; in their opinion, there is sound intensity that cannot be
exceeded. , in an article that he published last year, Dr. Lucas claims to have proved that
sound intensity be increased without limit.

/ (1) positive / no / However / can, theoretically,
(2) negative / no / Indeed / cannot
(3) negative / a/ However / can, theoretically,
(4) positive / no / Indeed / cannot
English Pycckuit Portugués Deutsch Italiano
praise IIOXBaja elogio Lob lode
flattery JIeCThb bajulacdo Heuchelei adulazione
hypocrite JIUIIeMePHBIIT hipdcrita unehrlich ipocrita
admiration BOCXUIIEHNE admiragdo Bewunderung ammirazione
sincere OTKPOBEHHBIN sincero aufrichtig sincera
limit npepen limite Grenze limite
intensity cuma intensidade Stirke intensita
/ to exceed YBEINYNTD ultrapassar iiberschritten oltrepassata
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13. In the history of education, the names of two Roman philosophers stand out — Quintilian and
Plutarch. Both considered memory to be of the utmost importance in the educational process,
and both believed that every student must commit to memory as many worthy behaviors and rich
modes of expression as possible. "A good memory is the first sign that one is endowed with
natural intelligence," wrote Quintilian, and Plutarch wrote, "Above all, a child's memory should
be trained and exercised, for memory is the storehouse of learning."

Which of the following may be inferred from the text with regard to the views of Quintilian and

Plutarch?

(1) Quintilian maintained that a good memory is an attribute that one is born with, and Plutarch
claimed that memory can be improved.

(2) Quintilian was of the opinion that memory is only one of the attributes that are important for
learning, and Plutarch believed it to be the most important attribute in this regard.

(3) Quintilian believed that memory is more important than learning, and Plutarch believed that
learning is more important than memory.

(4) Quintilian claimed that memory is essential to the learning process, and Plutarch maintained
that it is not memory itself that is essential, but rather, that exercising the memory is what is
important.

14. Gali, Donna, Vered and Hadas are four friends.

Below are four statements:

A. Gali is a classmate of Donna.

B. Donna is a classmate of Hadas.

C. Hadas is a classmate of Vered.

D. Vered is a classmate of Gali.

Therefore, which of the following is not possible?

(1) Only one of the statements is true.

(2) Only two of the statements are true.

(3) Only three of the statements are true.

(4) All four statements are true.

English Pycckmii Portugués Deutsch Italiano

to commit to | 3armevarneTb gravar einverleiben affidare (imparare a)
endowed HajeeH dotado begabt mit dotato

to train TPeHNpOoBaTh treinar geiibt allenata

storehouse CKJIaf depdsito Vorratsraum deposito

views B3IJIAMBI pontos de vista Ansichten modi di vedere
attribute KayecTBa atributos Eigenschaft attributo

essential SKM3HEHHO Ba>KHBII vital unentbehrlich essenziale

classmate OJTHOKJIACCHUK colega de classe Mitschiiler compagno di classe
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Reading Comprehension (Questions 15-20)

Read the text below carefully, and answer the questions that follow.

ey

(&)

According to the principle of natural selection, which is the basis for the theory of evolution,
the more a genetic trait helps those possessing it to survive and reproduce, the more that trait will
spread in successive generations. If, for example, in some species of deer, individuals happen to
be born with particularly sharp hearing, these individuals will be able to evade predators more
easily than do other deer that have normal hearing, and thus will be more likely to be the ones to
produce offspring. These offspring will likely inherit the trait of sharp hearing, and in this way
this trait will become increasingly prevalent over the generations. However, among many
animals there is also a trait that has evolved and spread that is seemingly inconsistent with this
principle — the tendency of an individual to behave altruistically, that is, to place the good of

(10)  others ahead of its own good in a way that makes that individual less likely than others to survive
and produce offspring. Scholars of evolution have formulated several theories in an attempt
to explain this phenomenon.
The father of the theory of evolution, Charles Darwin, addressed this issue in his book The
Origin of Species, in a discussion about a particular species of ants. In that species, all the
(15)  female ants in a colony are physiologically capable of reproducing, but most of them do not
produce their own offspring. Instead, they help their sister ants to fight, gather food or care for
the offspring of the queen ant. Darwin had difficulty finding an evolutionary explanation for this
altruistic behavior on the individual level, and instead offered an evolutionary explanation that
focuses on the group. He suggested that if the competition for resources is fiercer among
(20)  different colonies than the internal competition within any one colony, and if cooperation among
English Pycckuit Portugués Deutsch Italiano
natural selection | ecrectBenHslit 0oT60p | sele¢do natural | natiirliche Auswahl | selezione naturale
trait yepTa traco Charakterzug tratto /
to survive BBDKUTH sobreviver iiberleben sopravvivere
to reproduce Pa3sMHOXaTbCA reproduzir-se sich fortpflanzen riprodursi
spread pacmpocTpaHeHue difusao sich verbreiten diffondersi
deer OJIeHN Cervos Rotwild capriolo
to evade usbexarpb escapar entkommen scampare a
predators XUITHUKU predadores Raubtiere predatori
offspring IIOTOMCTBO descendentes Nachkommen discendenti
to inherit YHAaC/IeJoBaTh herdar erben ereditera
prevalent pacrpocTpaHeHHas comum dominant prevalente
inconsistent with | He cooTBeTCTBYyeT inconsistente unvereinbar mit incoerente /
. menor weniger .
less likely YMeHbIIAeT MIAHChI probabilidade wahrscheinlich meno probabilmente
resources pecypcsl recursos Reserven risorse
fierce ocTpas mais forte heftiger piu forte
cooperation COTPYIHNYECTBO cooperacio Zusammenarbeit collaborazone /
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(25)

(30)

(35)

the ants in a colony — though necessitating a sacrifice on the part of some of them — gives the
colony an advantage over other colonies, then the altruistic behavior will persist and become
widespread in future generations.

In the mid-twentieth century, the researcher William Hamilton suggested a different solution
to the problem, which looks at it from a new angle — natural selection among genes. Hamilton
observed that altruistic animals follow a double standard, even with regard to different members
of their own group. They are more willing to help their kin than to help other individuals, and
the sacrifices they are prepared to make for them are greater. From this observation, Hamilton
derived a broader principle. The closer two individuals are genetically, the more willing they
are to help one another. Hamilton hypothesized that there is a gene that is responsible for
altruistic behavior, and that altruistic behavior has no purpose other than to facilitate the
proliferation of this gene. For example, if the gene is prevalent among termites of a particular
colony, then a termite that helps the colony increases the likelihood that his fellow termites, who
carry the same gene, will reproduce and transmit the altruism gene to the next generation,
even if that termite pays for this help with its own life. Thus, what appears to us to be altruistic
behavior on the part of an individual is actually "selfish behavior" on the part of the gene. While

b e N e N N e N

the sacrifice made by the individual reduces its own chances of producing offspring, it helps to
spread the altruism gene in the population.

Some researchers maintain that, in many cases, altruistic behavior only seems to pose a
(40)  problem for the principle of natural selection, and that there is nothing wrong with giving this
behavior an evolutionary explanation that focuses on the individual. These researchers call into
question the basic assumption that the behavior in these cases is indeed altruistic. Perhaps, they
claim, the "altruist" actually gains more than it loses, for example, if the act of self-sacrifice
raises its social status, which in turn will help it find a mate and produce offspring. A different
45)  explanation views the seemingly altruistic act as one link in a long chain of social reciprocity.
One individual helps another and, in return, receives help itself on some other occasion. In the
long term, this cooperation contributes to the chances for survival and reproduction of each and
every individual in that society.

English Pycckmnii Portugués Deutsch Italiano
necessitating TpebyeT exige erfordert richiede
sacrifice JKepTBa sacrificio Opfer sacrificio
persist COXPaHNUTCA serd mantido sich halten persistera
Eveifi(:;;ea d pacrmpocTpaHuUTCA serd difundido iz};)z;gﬁr si diffondera
double standard | guckprMrHaIVIA padrao duplo iiecr}}llérlltlé?lnsequent ﬂfﬁg?(i)odits:& ;Ed’
kin copopmun parentes Angehorige consanguineo
gene reH gene Gen gene
proliferation pacrpocTpaHeHne proliferagdo Fortpflanzung proliferazione
selfish STOMCTUYHBIN egoista selbstsiichtig egoista

call into question ggﬁiiiﬁ?T questionam in Frage stellen fqulleetz(t)ircl)iei:n
mate mmapa parceiro Partner compagno/a
reciprocity B3aMIMOOTHOUIEHNA reciprocidade Gegenseitigkeit reciprocita
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15.

Questions

According to the first paragraph, why will this trait "become increasingly prevalent over the
generations" (line 7)?

(1) Because hearing ability becomes increasingly sharper from one generation to the next

(2) Because the deer's greater ability to survive gradually leads to the extinction of their
predators

(3) Because deer with sharp hearing have a greater chance of surviving and producing offspring

(4) Because deer with sharp hearing do not compete for resources with deer that have normal
hearing

16.

Which of the following can replace the words "to explain this phenomenon" (line 12) without
changing the meaning of the sentence in which they appear?

(1) To use the principle of natural selection to explain why the trait of altruism did not evolve
among all animals

(2) To explain why the tendency of an individual to place the good of other individuals ahead of
its own good is inconsistent with the principle on which the theory of evolution is based

(3) To explain why it is conceivable that many animals exhibit altruistic behavior even though
this behavior seems to be inconsistent with the principle of natural selection

(4) To explain why the tendency of an individual to behave altruistically reduces the relative
chances of its producing offspring

17.

How did Darwin explain the altruistic behavior of the ants?

(1) Most of the ants in a colony do not produce their own offspring and therefore they behave
altruistically towards their fellow ants in the colony.

(2) A group of ants in a colony that behaves altruistically has a survival advantage over another
group of ants in the same colony that does not behave that way.

(3) Aants help each other because each and every one of them benefits more from such
cooperation than they would benefit from internal competition among the ants in the colony.

(4) The cooperation among ants in a colony gives the colony an advantage in its competition
with other colonies, which makes this behavior become increasingly widespread.

English Pycckmnit Portugués Deutsch Italiano

extinction BBIMUpaHue extingao Aussterben estinzione
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18. The statement "altruistic behavior has no purpose other than to facilitate the proliferation of this
gene" (lines 31-32) means that -
(1) the spread in the population of the gene responsible for altruism is not one of the purposes
of altruistic behavior
(2) altruistic behavior cannot promote the spread in the population of the gene responsible for
altruism
(3) the goal of altruistic behavior is to increase the spread in the population of the gene
responsible for altruism
(4) the spread in the population of the gene responsible for altruism contributes to altruistic
behavior
19. At first glance, it is difficult to understand why a peacock has such a large, magnificent tail, since
the larger its tail, the harder it is for the peacock to flee its predators. However, its magnificent
tail signals that the peacock is so strong that it can allow itself such an encumbrance, thereby
attracting potential mates.
How is the explanation regarding the peacock's tail similar to the explanation given in lines
42-44 ("Perhaps ... find a mate and produce offspring")?
(1) Inboth cases, it appears at first that a certain individual is endangering itself, but further
probing reveals that this is not so.
(2) In both cases, potential mates are attracted to a particular individual not because of its
physical traits, but because of its behavior.
(3) In both cases, a particular individual demonstrates its strength, a strength that enhances its
chance of surviving and reproducing.
(4) In both cases, the harm that seems to be done to a particular individual's chances of
/ surviving and reproducing actually increases these chances.
English Pycckuit Portugués Deutsch Italiano
to promote CII0CcO6CTBOBATD promover fordern promuovere
/ goal 1[e7b objetivo Zweck scopo, obiettivo
peacock MIaBJINH pavao Pfau pavone
to flee yberarpb escapar fliehen sfuggire a
encumbrance Opems estorvo Hemmnis ingombro
/ probing u3ydeHue observacao Nachpriifung indagine
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DN NN RPNT MIAINNDY TIIWD DNIDN VID KV PNIPDA NINNID YN DIPHN NI

(1)
(2)

(3)
(4)

Magyar Nederlands ATICT 92y
elg)segit, gyorsit, bevorderen NP LI° DTPY
elorelendit

cel doel 0 mYon
pava pauw aMPn oNv
elmenekiil ontvluchten G P G VO
teher belemmering W1P4A/TC 21y
prabavetel, vizsgalat onderzoek gecavg. Y
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/ 20.  What is the relationship between the four paragraphs of the text?

(1) The first and second paragraphs present traditional approaches to solving a problem in the
theory of evolution, the third paragraph presents a modern approach to solving the problem,
and the fourth paragraph calls into question the existence of the problem.

(2) The first paragraph presents a problem in the theory of evolution, the second and third
paragraphs present possible solutions to the problem, and the fourth paragraph presents the
possibility that there only seems to be a problem.

(3) The first three paragraphs offer different approaches to solving a problem — all based on the
theory of evolution — and the fourth paragraph offers a solution to the problem that is not
based on this theory.

(4) The first paragraph presents something problematic with the theory of evolution, the second
paragraph gives details of the history of the exploration of the problem, and the third and

/ fourth paragraphs suggest ways for resolving it.
English Pycckmii Portugués Deutsch Italiano
traditional TPafUIVIOHHbIE tradicionais herkémmlich tradizionale
/ approaches MTOJIXO/IbI enfoques Einstellungen approccio
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Magyar Nederlands R7ICT 92y
hagyomanyos traditionele NYARPT NPNNON
szemlélet, felfogas benaderingen ARPT men
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Verbal Reasoning

This section contains 20 questions.
The time allotted is 20 minutes.

This section consists of several types of questions: analogies, critical reading and inference questions,
and reading comprehension questions. Each question is followed by four possible responses. Choose
the one which best answers the question and mark its number in the appropriate place on the answer

sheet.

Note: The words appearing against a gray background are translated into several languages
at the bottom of the page.

Analogies (Questions 1-4)

Each of the following questions contains a pair of words in bold type. Find the relationship between the
meanings of these two words, and then choose from among the possible responses the one in which the
relationship between the two words is most similar to the relationship you have found.

Note: The order of the words in each pair is significant.

1. to set free : captive -

(1) to putto sleep : awake

(2) to brew :

tea

(3) to impoverish : pauper
(4) to burn with fever : hot

2. to congeal : liquid -

(1) to straigh

ten up : bent

(2) to be denied : right
(3) tolighten : heavy

(4) toascend : high
English Pycckuit Portugués Deutsch Italiano
to set free 0CBOOOTUTD libertar in Freiheit setzen liberare
captive 3aKIIFOUEHHBIN cativo gefangen prigioniero
to brew 3aBapuBaTh fazer, ferver brauen fare un infuso
to impoverish pasopsTh empobrecer verarmen impoverire
pauper HUIIAN pobre mittellos povero
to burn with fever | ctpagath xxapom arder em febre fiebern ardere di febbre
to congeal 3acox congelar verkrusten congelare
to straighten up | BeIIpAMMICA endireitar-se sich aufrichten raddrizzare
to be denied OTBEpPTHYT ser negado dementiert esser smentito
to ascend B3/IeTeN ascender, subir aufsteigen salire
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MPT 20 NI ASPIN YT

YIIN MY NORY 935 .INIP YOPY MYINT MONYI NPD 1320 MORY  NPNIIN 02D 1020 MONRY 73 PI93
1192 DINNND DIPNA NIADN NN DD ,NORY DI 9N NNIRNNN NDIVND DN MNNAD 0ODY .MAIWD
2wnn

TIRYN DYRND2 MOY N1NDID MDINDD NN YPI DY MYINN D200 2D 1Y

(@-1 MONY) DPNIIN

MWD NN 1INY ,NORD DIDMIN PNV DY DMYNPWNI P2 DN DN INSD . MIYHITIN DD DT W NORY D03
LDINSHDY DN 9N2 NNITH NXIN 7292 DNYIY DXDY0N MIT DN MYIIND
AR DODNN ITOD MWN W 129 WY

- WvIan : N1 NIIPY A

W oTIND (1)
N vPNY (2)
VI wewd (3)
on: MTPY (4)

- 9N WA 2

NS : 9GP (1)
N2 wN (2)
TA0:5pn  (3)
M poy  (4)

Magyar Nederlands KROICT 93y
kiszabadit bevrijden e LA MNIT NIPH
foglyul ejtett gevangene °Chy wiIIn
foz zetten / brouwen 42 AHDOE VN9
elszegenyit verarmen / verpauperen | “1L0¢ /T 1$CHN v
szegeny pauper, arme L£7/%2 (L.m. vy
laztol eg gloeien van koorts N75& av0Fet+ mTpo
megfagy stollen A0 vIP)
egyenesbe/rendbe hoz rechtop gaan staan PP AN TN
elutasitott wordt ontkend +he ClaRin]
felmegy, felszall opstijgen oL AL @M PO
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3. unconstrained : to restrain -
(1) honest : to deceive
(2) trustworthy : to rely on
(3) ambitious : to succeed
(4) chatterbox : to hush
4.  deloused : hair -
(1) mined : mine
(2) weeded : soil
(3) emigrated : homeland
(4) uprooted : root
English Pycckuit Portugués Deutsch Italiano
. . - senza costrizioni,
unconstrained PasHy3IaHHBIN sem restrigdes schrankenlos libero
to restrain 00y3znaTh restringir zligeln limitare
trustworthy HaJe>KHbIN confiavel vertrauenswiirdig affidabile
chatterbox 6onTyH tagarela geschwiitzig chiacchierone
to hush 3aCTaBUTh MOJTYATh silenciar, calar zur Ruhe verweisen | sussurrare
deloused BBIYECBIBAJI BIIEH despiolhado lausen spidocchiato
mined pBIT minerada, cavada | schiirfen scavato
mine LraxTa mina Bergwerk miniera
weeded TI0JION capinado jiten diserbare
uprooted BBIpBaI extirpada ausreilien sradicato
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MY N (1)
TOD : POX - (2)
MOSND : NaNY  (3)
monY : JVava  (4)
-wy:nvy 4
71on: 111 (1)
DTN W) (2)
nTOM W (3)
YN Py (4)
Magyar Nederlands ATICT 93y
nem kenyszeritett,
mesterkéletlen ongeremd gl 1O N2WN
visszatart beteugelen av) 10>
megbizhatod betrouwbaar Th1Y, PON
€sacsogo kletskous AGAL 109V
lecsendesit, elhallgattat tot zwijgen brengen H9° “0t+ mono
tetvetlenitett ontluisd heoIA 024 199
banyaszott, alaaknazott ontgon 90L77 B4l 17
banya mijn U107 03 1791
kigyomlalt verwijderde onkruid hhlo° 224 v
kiszakitott ontwortelde 1PA Py
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Critical Reading and Inference Questions (Questions 5-15)

S.

An article dealing with the "economic downturn cycle" stated: "When one individual in a
society cuts down on spending, the outcome is positive, but when most of the individuals in a
society do this at the same time, the total amount of money spent on consumption decreases,
which leads to a reduction in production and to a reduction in the number of people employed in
production. This is followed by a further reduction in expenditure on consumption, due to the
dismissal of those workers who had been employed in production, and so on."

Which of the following occurrences is mentioned in the text as the one that triggers the
"economic downturn cycle?"

(1) One individual in a society cuts down on spending.

(2) Most of the individuals in a society cut down on spending at the same time.
(3) Production is reduced.

(4) People employed in production are dismissed.

a

The organizers of a performance scheduled to be held outdoors published the following notice:

If, on the day of the performance, there is light rain or strong winds, but not both — the
performance will be held in the scheduled place. If, on the day of the performance, there is light
rain as well as strong winds, or there is heavy rain — the performance will be moved indoors. If,
on the day of the performance, there is both heavy rain and a thunderstorm — the performance
will be cancelled.

Based on the notice, which of the following is not possible?

(1) On the day of the performance there is a thunderstorm and the performance is not cancelled.
(2) On the day of the performance there is heavy rain, and the performance is held outdoors.

(3) On the day of the performance there are strong winds and the performance is held outdoors.
(4) On the day of the performance there is light rain and the performance is moved indoors.

English Pycckmit Portugués Deutsch Italiano

downturn cycle LIVIKJT 3aMeJIEHNS

ciclo de

d ~ Reduktionszyklus | ciclo di ribasso
esaceleracdo

consumption notpebneHue consumo Verbrauch consumi

reduction yMeHblIeHNe reducio Verringerung diminuzione

expenditure pacxopbl despesas Ausgaben spesa/e

dismissal YBOJIbHEHNE demissdo Entlassung licenziamento

unter freiem

outdoors TOJ] OTKPBITBIM HeboM | a0 ar livre in esterni

Himmel

strong CUIbHBIE fortes heftig forti
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lassuld ciklus neergang cyclus PH S 0m-£& NONN YN
fogyasztas verbruik 2 RLRN
csokkenes vermindering +14 DINNY
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Often in the past, when those who shaped American diplomacy had to deal with a variety of

political cultures and with regimes whose standards differed from their own, they tended to
formulate policy and strategic decisions based solely on the values and norms which they had
been taught to uphold. This tendency became an impediment to the conducting of foreign policy
prior to 1945, and certainly in the decade that followed, when the United States became a
superpower in the new international order.

According to the text, what was the error of those who shaped American diplomacy in the decade
between 1945 and 1955 and in the preceding years?

(1) They ignored the accepted values of the political cultures with which they were dealing.
(2) They attempted to interfere with the policies of regimes that were based on standards that
differed from their own.
(3) They tended to adhere to existing decisions, and not to adapt their policies to the new
international order.
(4) They tended to formulate foreign policy towards other regimes based on only partial
information about them.

English

Pycckuit

Portugués

Deutsch

Italiano

regimes

PpeXUMBI

regimes

Regimes

regimi

standards

IIpVMHIINIIBI

padrdes

MaBstibe

standard

to formulate

paspabbIThIBATh

formular

bestimmen

stabilire, prendere

os quais foram

mit denen sie

had been taught | B koTOpBIX OHU 6BLIN . che era stato loro
ensinados a aufgewachsen .
to uphold BOCIIUTAHbI detto di sostenere
defender waren
became an p . .
. . BpeuTh obstaculo Hindernis ostacolo
impediment
error oubamice, ommbka | erro Fehler errore
ignored VHOTOPUPOBAIN ignoraram ignorierten ignoravano
. sostenere
to adhere NIpUAEP>KUBATbCA aderir festhalten an N
adeguarsi a
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,1945 5395 XINN NPITN 217232 XYY DND NNMN T VI IINNN 717292 HYY MNINM DXV NIIWN DY
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1D INTPY DMWY 1955-D 1945 PAY MUY MMIPIIIND MIOMIDTI YV)IIP NY 1N ,NPDIT NNIN 19D

NN YTTINDNY NPVINSN NMIINT MOIPHNT DIIIWN MIIWNN MOYNN DN (1)

DNOWN MNY NN MNN DY DODIANT DIVYN DY DNPPTNI 29YNNID 0N DN (2)

NYTNN TPNIND-PIAN NIIWND NPPTHN DN DORNND XY, MN»PN MOLONNA P31 W) DN (3)

DMYY 7252 >PON YN DDA DY DIINN DXIVWN 292D XIN NPT YD VI DN (4)

Magyar Nederlands b Lo [ 93y
(kormany) rendszer regimes a2 3t DMOYN
mertek, szinvonal maatstaven a0 CAT A7n MNN
megfogalmaz opstellen avpav(; (Unby)
neveleésiik szerint waarmee zij waren NI A4 193NAA Y13 Sy
tamogatjak opgegroeid

akadaly belemmering aAGTHA W1 N
hiba fout Ocht NN DY
figyelmen kiviil hagy negeerden Ta At NOYNN
ragaszkodni vasthouden aan ava)(p ZARR P,
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The origin of chess is open to debate, and the invention of the game is attributed to different
regions of the ancient world, including China, India, Egypt and Persia. Some scholars believe
that chess began as the Indian board game chaturanga, which then spread to the East, where it
assumed different forms, such as xianggi in China and makruk in Thailand and Cambodia. Other
scholars believe that chess has its source in the game xianggi, which they maintain was invented
in China in the second century BCE.

According to the text, which of the following claims regarding xianggi is correct?

All scholars agree that it is an original Chinese game, and that the Indian game chaturanga

and chess evolved from it.

All scholars agree that of all the games of the ancient Far East, it is most similar to chess.

According to some scholars, it evolved from several different games in the Far East, while
according to others, it was the earliest form of those games.
According to some scholars, it is a version of the Indian game chaturanga, and according to
others, it is an original Chinese game.

English

Pyccknit

Portugués

Deutsch

Italiano

chess

nraxmaThbl

xadrez

Schach

gioco degli scacchi

open to debate | mpeaMeT CIIOpPOB

controverso

umstritten

oggetto di discussione

assumed

npuobpern

assumiu

nahm ... an

assunse

evolved

PpasBUINCDH

evoluiu

entwickelte sich

sono un'evoluzione

version

BepCus

Versao

Variante

versione
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LHNYY NP MITH NIN PININ NROD DY DIPINYN DPNYNI 2IPHY D00 DIPINN DI (2)

MPHNN NINY D>NIADN YN ,PININ NN DONY DPNYN 1010 NNIND NINY DNIADN DIPIN W (3)
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YNPN OIPD PRYN NXINY DINIADN WM, DINNV'S YTIND PRYNN DY DM XIiNY DXNIADN DIPIN v (4)

Magyar Nederlands ATICT 93y
sakk schaakspel i vNPNY
vita targya omstreden hhéhe nPIYNNa MY
felvesz, olt aannam Te0L1 ATT -5
kifejlodik zich ontwikkelde hEeL1 4L INNONN
verzid, valtozat versie CTALY A
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Researchers compared the reaction times of drivers to dangers on the road in two situations:
while the drivers were listening to music chosen by the researchers and while the drivers were
listening to music that they themselves chose. The researchers found that drivers who listened to
music of their own choosing reacted more slowly than drivers who listened to music chosen by
the researchers. They therefore concluded that when drivers listen to music that they like, their
reaction time is slower and the danger of traffic accidents increases.

Another researcher claimed that it was not the fact that a driver liked the music he was listening
to that affected his driving, but another factor altogether. Which of the following could be the
basis for this claim?

(1) Unlike the music chosen by the researchers, the drivers chose music that was loud and
distracting.

(2) The researchers included only new, inexperienced drivers in the study.

(3) The music chosen by the researchers was music the drivers did not like.

(4) The drivers who participated in the study were not accustomed to driving while listening to
music.

The following instructions relate to questions 10-12.

In each question, there is a sentence (or sentences) with several parts missing, followed by four
possible ways of completing the sentence. Complete each sentence, using the response that is
most appropriate.

10. sent me the invitation have come to the party, because on the day of the party __.
Therefore, that you sent it at the last minute.
(1) Had you not / well in advance, I would not / I had other commitments / it is unfortunate
(2) Had you / far enough in advance, I might / I had other plans, but I would gladly have
cancelled them / you should not feel bad
(3) Had you not / at the last minute, I might / I was overseas anyway / it is unfortunate
(4) Even if you had / in time, I would not / I was out of the country / you should not feel bad
English Pycckuit Portugués Deutsch Italiano
reaction times BpeMsA peaklunn tempos de reagdo | Reaktionszeiten tempi di reazione
danger OITIaCHOCTH, PUCK perigo, perigos Gefahrenmoment/e | pericoli
distracting OTBJIEKaeT que distraem ablenkend distraente
accustomed MIPUBBIK/IN habituados gewoOhnt abituati a
commitments o06s13aTenbcTBa COmMpromissos Verpflichtungen impegni
cancel OTMeEHsEeT cancelado absagen annullare
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11.  The writings of the acclaimed author Jacoby all had one clear goal — to goad and provoke the
society in which he lived and incite it to rebel. his early books, his later books,
which were of a scientific and realistic nature, the intellectuals, Jacoby's peers, whom he
saw
(1) And indeed, like / which were intended for the educated and influential social classes, /

were also notable for their wonderful utopian descriptions that were not intended for / as his
main audience
(2) And indeed, / which were full of revolutionary fervor, had a considerable influence on the
public, but / were written only to defend / as his greatest opponents
(3) Thus, / with their clear, simple language, were written purely for the entertainment of the
masses, whereas / put off even / as his most important allies
(4) But unlike / whose simple plots allowed them to convey their message to the masses, / were
intended only for / ultimately as the ones who could bring about true social change
English Pycckuit Portugués Deutsch Italiano
goal 11e/Tb objetivo Ziel SCOpo
to goad CTUMY/IMPOBATh estimular anregen pungolare
to incite BBI3BIBATb OpOXKeHMe | agitar aufwiegeln incitare, istigare
to rebel HOJHMMATD Ha OyHT incitar a rebelido | Aufstand machen | ribellarsi
peers KOJIIeT! colegas Kollegen colleghi
revolutionary PEeBOMTIOIIOHHBIN revoluciondario Revolutions- rivoluzionario
fervor TIBIT fervor Begeisterung ardore
opponents MPOTUBHUKYU oponentes Gegner opponenti
put off Cllep>KMBaNN dissuadiram abschrecken inibire, scoraggiare
message I7IaBHas uzies mensagem Botschaft messaggio
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12. Even though
I think

Tammy was offended by what I said to her, to her. This is not because

forgive me, but because

I do not understand why / I do not intend to take your advice, but instead, I will apologize /
you are right in saying I should ask her forgiveness even if I do not think she will be willing
to / she always made sure to apologize to me after offending me

I do not think that / there is no doubt in my mind that I must apologize / that if I do not
apologize, she will not agree to / when someone is offended by me, it is only right that I
apologize to him

it has happened in the past that / this incident should not be treated like previous incidents,
and this time I do not intend to apologize / that even if I were to apologize, she would refuse
to / I have never regretted the things I have said, and I certainly am not in the habit of
apologizing for them

I understand why / I have no intention of taking your advice and apologizing / you are
mistaken in assuming that if I apologize she would be willing to / she never apologized
when she offended me

English Pycckmi Portugués Deutsch Italiano

was offended obumenach ficou ofendida gekrinkt offesa

to be willing COTJIACUTCS estard disposta bereit sein vorra

incident VHIUATEHT incidente Vorfall incidente

. . si rifiutava di fare
refuse He CTaHeT recusar-se a sich weigern
altrettanto

assuming IpeIooKeHne suposicao Annahme supporre
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13.  For thousands of years, people foraged and hunted for their food in nature. Some ten thousand
years ago, people began growing agricultural crops, mostly wheat, which could be kept for a
long time, thereby allowing them to work less and at the same time to attain nutrition security.
A natural outcome of this security was a dramatic increase in the population, which in turn
forced people to engage in intensive cultivation of wheat and to work harder than they had done
before its discovery.

In which of the following processes is the development of the problem most similar to that of the
problem relating to wheat described in the text?

(1) The invention of the cellular phone, which makes it possible to contact people even outside
the home, created a sense of freedom, but as soon as its use became widespread, we felt
hounded because others — for example, our places of work — expect that we should be able
to be reached at any time.

(2) The invention of the washing machine made it possible to greatly reduce the time spent
doing housework, but the time that was saved was soon assigned to other activities, and now
it would be very burdensome to go back to washing laundry by hand.

(3) Some people expected that the invention of the Internet would bring with it new
employment opportunities for journalists, but in fact, the massive amount of information it
made available only damaged the journalists' livelihood, because there was less need for
their work.

(4) Private motorized vehicles allow people to reach their destination quickly, but the vast
increase in the number of vehicles traveling on the roads since the invention of the
motorized vehicle caused a marked increase in air pollution.

English Pycckuit Portugués Deutsch Italiano

foraged cobmpan colheu sammelten ;Tc:)((::?;%;lrzrie’

to attain no6uThCs obter erlangen assicurarsi

nutrition MUTaHNe nutricao Erndhrung nutrimento

outcome CIIeICTBUE consequéncia Folge risultato

cultivation BBIpall[MBaHUe cultivo Anbau coltivazione
widespread pacIpocTpaHeHHbII difundido weit verbreitet diffuso

hounded npecienyeMble perseguidos verfolgt inseguiti, perseguitati
to be reached HBOCTYIIHOCTD g?sgztjfrggs erreichbar essere reperiti
burdensome Opems penoso lastig pesante

livelihood 3apaboToK sustento Lebensunterhalt vita (modo di vivere)
destination IIyHKT Ha3HauYeHMs destino Bestimmungsort destinazione

air pollution 3arpsisHeHMe Bo3gyxa | poluicdo do ar | Luftverschmutzung | inquinamento (aria)
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14.

Twenty-six percent of all immigrants to Israel in the past decade were children under the age of
eighteen. The proportion of children in the immigrant population is lower than their proportion
in Israel's general population, and in the past decade it has even decreased.

Which of the following can be inferred from this information?

€]
2

3)
“)

In the past decade, the proportion of children in Israel's population was more than
twenty-six percent.

Immigrants who came to Israel in the past decade constitute twenty-six percent of Israel's
population.

In the past decade, the proportion of children in Israel's population has been declining.
The proportion of children in the immigrant population is smaller than the proportion of
immigrants in Israel's general population.

[y
4

The word "gene" is derived from the Greek word "genesis," which means "beginning," and with
good reason: whoever coined the word regarded genes as the root or beginning, and thus, also
the cause of all the important physiological phenomena in a person's life, from birth to death.
However, according to social scientists, this view of mankind places too much emphasis on
heredity and gives too little weight to environmental factors.

From the explanation of the origin of the word "gene," we learn that -

ey
@)
3)

“)

whoever coined the word "gene" considered genes to be of enormous importance
genes are the source of all the important physiological phenomena in a person's life
in the opinion of social scientists, more weight should be given to the effect of
environmental factors on people

whoever coined the word "gene" placed too much emphasis on heredity

English

Pycckuit Portugués Deutsch Italiano

proportion IO indice Prozentsatz

percentuale, parte
proporzionale

to be inferred BBITEKaeT pode ser deduzida | ist zu erschlieBen si puo evincere

coined

IpUAyMas cunhou prigte conio
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Reading Comprehension (Questions 16-20)

Read the text below carefully, and answer the questions that follow.

ey

(&)

Money is a means of payment that allows those who possess it to purchase goods or
services. It is based on units of account that are determined by legislation or by force of
tradition, and it serves as a measure of the value of these goods and services. The exchange of
goods for money was preceded by barter — the exchange of goods for goods. Barter enabled
people to acquire items that they did not produce themselves, but there was not always mutual
demand for the goods held by both parties. Thus, the need arose for a method that could be used
to measure the value of the goods. The solution for this lay in establishing agreed-upon items
that would serve as standards of measurement and comparison. Different standards were used in
different places. In most cases, primitive money took the form of units of products or goods that

(100 were in everyday use, and therefore had their own intrinsic value, such as iron rods among the
Greeks, barley grains among the Saxons, and heads of cattle among the Romans. In this way,
primitive money could fulfill its original purpose while also serving as a means of payment.

Hundreds of items and objects served as primitive money, but the most common standards
of comparison were metals — both cheap metals, such as iron and copper, and precious metals,
(15)  such as silver and gold. The preference for metals stemmed from the fact that they have many of
the properties required of money: people can identify the types of metals easily, their value
remains stable over time, their supply is relatively steady, it is technically easy to divide them
into small units, they can be stored without spoiling for long periods of time, and relatively small
quantities have high value. These advantages allowed metals to fulfill the three main functions
(20)  of money: to serve as a medium for measurement, exchange and savings.

English Pycckuit Portugués Deutsch Italiano

is based ommpaercs ¢é baseado beruht auf si basa

units of account | KAMHUIIBI UCYMCIIEHUS ggllglgl(g)es de rechnerische GroBen | unita di calcolo
measure U3MepeHne medida Mafstab misura

value IIEHHOCTD valor Wert valore

mutual B3aMMHBIN mutua gegenseitig reciproca

demand cpoc demanda Bedarf domanda, richiesta

took the form of

npuHuMaeT Gopmy

assumia a forma de

kam in Form von

prese la forma di

iron rods JKeTIe3HbIe TPy Ths hastes de ferro Eisenstibe bastoncini di ferro
barley grains 3epHa AYMEHs graos de trigo Gerstenkorner grani di orzo
heads of cattle | romoBer ckoTa cabegas de gado Stiick Vieh capi di bestiame
metals MeTaJUIbI metais Metalle metalli

supply IIpeJIoKeHIIe suprimento Verfiigbarkeit reperibilita, offerta
to be stored HaKoIIeHe armazenados aufbewahrt immagazzinati
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The transition from primitive money to modern money in the form of coins was usually a
sharp one. In England, for example, the agreed standard of comparison — barley grains — was
changed directly to coins. However, in some cases, the transition was gradual. An excellent
example of this is Chinese "cash" knives, which served both as work tools and weapons, and as

(25)  the agreed standard of comparison. Because these knives were very large and heavy, small
replicas were cast from copper and these served as money. These replicas were the most widely
used currency in China from the seventh century until the early twentieth century. Over time, the
blade section of the replicas became increasingly smaller, until they eventually evolved into
round coins.

(30) In the course of its development, money underwent a further metamorphosis, which was
meant to save on metal and make money easier to handle. Money began to be produced from a
cheaper material — paper. Like the Chinese "cash" replicas, paper has no meaningful value, but it
is assigned a specific value, which it represents. Paper money became the main form of cash in
modern society. However, its appearance created one of the main problems of modern

(35) economics: the possibility of producing this money in unlimited quantities caused the market to
be flooded with money, without there being a corresponding rise in the quantity of goods that
could be purchased with it.

English Pycckuit Portugués Deutsch Italiano
transition repexoy, transicao Ubergang il passaggio
replicas KOInm réplicas Exemplare copie
cast OT/IMBAJIN fundidas gegossen colare (di metalli)
blade ne3Bue lamina Schneide lama
metamorphosis | Tpanchopmanus metamorfose Verwandlung metamorfosi
to be assigned | mpucBoeH fixado bestimmt le ¢ assegnato
represents MIpeiCTaBIsAeT representa darstellt rappresenta
unlimited HeorpaHM4eHHbIe ilimitada unbegrenzt illimitata/e
flood U30BITOK saturado, inundado | tiberflutet inondato

/ corresponding | COOTBETCTBYeT correspondente entsprechend corrispondente
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Questions
16. The words "for this" (line 7) refer to -

(1) the problem of the lack of mutual demand for goods

(2) asituation in which money is not based on units of account

(3) the use of different standards of comparison in different places and at different times
(4) the fact that people could not themselves produce all the products they needed

17.  The first paragraph states that the Saxons used barley grains as primitive money. From this, it
can be inferred that -

(1) a Saxon who owned a sack of barley was richer than a Saxon who owned property but no
barley

(2) a Saxon merchant usually received barley grains in exchange for his goods

(3) the Saxons did not use barley grains for anything other than a means of payment

(4) the Saxons saw no need for a method of measuring the value of goods

18.  "An excellent example of this" (lines 23-24) refers to an example of -

(1) the sharp transition from "cash" replicas to coins

(2) the choosing of agreed standards of comparison

(3) the gradual transition from primitive money to modern money
(4) the usefulness of "cash" knives in China

English Pycckmnit Portugués Deutsch Italiano
lack HeXBaTKa falta Mangel mancanza
property UMYIECTBO propriedades Giiter proprieta
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19.  Which of the properties of metals (lines 16-19), if it existed in paper money, would prevent "one
of the main problems of modern economics" (lines 34-35)?

(1) Relatively steady supply

(2) Technical ease of dividing the unit of measurement into subunits
(3) Possibility of storage without spoiling for long periods of time
(4) Technical ease of exchange

20. What do all the different types of money mentioned in the text have in common?

(1) They are determined by the main resources that exist in the places where they are used.
(2) They have their own use, apart from serving as a means of payment.

(3) They have a high value relative to the amount of material that is used to make them.
(4) There is social consensus regarding the value represented by their units.

English Pyccknit Portugués Deutsch Italiano
prevent [pefoTBpalaeT impedir verhiiten prevenire
steady TIOCTOSTHCTBO estavel gleichbleibend stabile
resources pecypcnl recursos Mittel risorse
consensus KOHCEHCYC consenso Einstimmigkeit consenso

b e N N N N N N

Copyright © by the National Institute for Testing and Evaluation. All rights reserved.
The test or any part of it may not be taught, copied or distributed in any form or by any means without written permission from the National
Institute for Testing and Evaluation.

b e N N e N N



2016 ININ2D TVID

-55-

Y 719 - N'717'N n2a'wN

NPYIN DN DN DYNN NN 30 DI D) DNMP NNYN DN (14-12 MIMY) NONNT MNINN N 19

2(25-24 TYNY) "HIITINN 192991 YW NPV

YOI OV oM Myap (1)

VN MDD DTTHN DTN DPIYN DY NN DIV MIVIXR - (2)

2WPOP DY N0 O DD TIND NPIAN DY MIVAN  (3)

PAYON DY NN DOV MIVON  (4)

- NI YOPA DHOSIN DNV 900 N 935 amwnn .20

DN 0N DNAY MMIPNRA DNMPN OPIPIYN DXIANWNN 29 DY DYIAPI DNV (1)

DYYN OYSHN DNV DY G0 Wiy DN VWY (2)

DMWY DN NNNY IMND M”NNI0 DN M) DMWY (3)

NNXMN OIPMTNY TIVN 2230 HPNIAN NNIDN IDOPY  (4)

Magyar Nederlands G [ 93y
megeloz voorkomen ThanaaT nyNn
allando geregelde R, U mynap
eroforras middelen / voorraden PHéTC UNFT DOINUN
megegyezes overeenstemming gt Rlanlen

b e N N N N N N

b e N N e N N

.(2"V) N2IYN71 NII'NA7 'R TDIN7 NNIDY NIDTN 7D ©
210NN ANDL YR R72,NINN D770 IR 171D ,0TNT77 IR JYXNN 7021 1IN 722 ,0I00 DYO7 IR IT NN Y'ONT7 IR 7'Nyn7 |'R
.NDIYN7I NIINAT 'Y IRN



Quantitative Reasoning - First Section - 56 -

February 2016

Quantitative Reasoning

This section consists of questions and problems involving quantitative reasoning. Each question is followed by four
possible responses. Choose the correct answer and mark its number in the appropriate place on the answer sheet.

Note: The words appearing against a gray background are translated into several languages at the bottom of each page.

This section contains 20 questions.
The time allotted is 20 minutes.

General Comments about the Quantitative Reasoning Section

%

The figures accompanying some of the problems are provided to help solve the problems, but are not necessarily drawn
to scale. Therefore, do not rely on the figures alone to deduce line length, angle size, and so forth.

If a line in a figure appears to be straight, you may assume that it is in fact a straight line.
When a geometric term (side, radius, area, volume, etc.) appears in a problem, it refers to a term whose value is greater

than O, unless stated otherwise.

When va (a> 0) appears in a problem, it refers to the positive root of a.

"0" is neither a positive nor a negative number.
"0" is an even number.
"1" is not a prime number.

Formulas

N N e N N N R N

T

Exponents: For every a that does not equal 0, and for
any two integers n and m -

Percentages: a% of x is equal to

- 1
a. an=? 11.
b. am*tN=gM.a"
n m n
c. am=("a)" ©0<a0<m)
d. an m=(an)m "

Contracted Multiplication Formulas:
(aJ_rb)2=a212ab+b2
(@a+b)a-by=a2-b?

distance

Distance Problems: = speed (rate)

amount of work

Work Problems: -
time

= output (rate)

13.

Factorials: n!=n(nh-1)(n-2) -.

If ADIIBEIICF

_BC .4 AB _ DE
EF " 'AC T DF

Proportions:
then AB

DE

Triangles:
a. The area of a triangle with base of
length a and altitude to the base of
length h i is &

2
b. Pythagorean Theorem:

In any right triangle ABC, as in the
figure, the following always holds

true: AC? = AB? + BC?

c. In any right triangle whose angles measure
30°, 60°, 90°, the length of the leg opposite
the 30° angle is equal to half the length of

the hypotenuse.
b
1]

EE
A

The area of a rectangle of length a
and widthbisa-b

10.

14.

15.

16.

<«—b—>

AR

<«——a—>

The area of a trapezoid with one
base length a, the other base length b,
and altitude h is w

The sum of the internal angles of an n-sided
polygon is (180n — 360) degrees. In a regular
n-sided polygon, each internal angle measures

<7180nn 360) <180 360) degrees.

Circle:
a. The area of a circle with radius r

is w2 (m=3.14...)

. o \</
b. The circumference of a circle is 27r
c. The area of a sector of a circle with a
oo 2. X

central angle of X° is Ttr 360
Box (Rectangular Prism), Cube:
A4

a. The volume of a box of length a,
width b and heightcisa-b-c

b. The surface area of the box is
2ab + 2bc + 2ac

BN

b e N N e N NN

c. Inacube,a=b=c

Cylinder:
a. The lateral surface area of a cylinder with 3
base radius r and height h is 27tr - h

b. The surface area of the cylinder is
272 + 270r - h = 270r(r + h)

<« S5—>

c. The volume of the cylinder is 7tr>- h

The volume of a cone with base radius r

2-
and height h is 5 h

The volume of a pyramid with base
area S and height h is Ss'h
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/ Questions and Problems (Questions 1-7)
1. In a certain office, each file must be labeled with two letters. The first letter must be either
A, B, C, D or E, and the second letter must be either M, N, P or Q.
How many different ways can the files in this office be labeled?
/ @® 9
2 12
3) 20
4 125
2. In the accompanying figure, ABCD is an isosceles trapezoid (AB = DC) and AEFD is a square.
The area of the striped region is 6 cm?2.
Based on this information and the information in the figure, A D
what is the area of trapezoid ABCD (in cm?)?
45°
(1) 18
) 24 B .
(3) 30 B E F C
4) 32
3. What is the lowest positive number, of which 12.5% is an integer?
(1 8
(2) 125
3) 24
(4) 64
/ English Pycckuit Portugués Deutsch Italiano
to label 0003HaYUTh rotular etikettieren etichettare
isosceles paBHOOEPEHHBIII isésceles gleichschenklig isoscele
trapezoid Tpenenus trapézio Trapez trapezio
/ square KBafipaT quadrado Quadrat quadrato
striped region SaAITPIXOBANHAA drea sombreada gestreifte Fliche zona a striscie
¢urypa
area IUIOIATh area Flache area
positive TIOJIOXKUTENTbHOE positivo positiv positivo
/ integer nenoe nlimero inteiro ganze Zahl numero intero
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105V 19010 0N YN 12.5% WX IN1a VPN XAPNN VDN N .3

8 (1)

12.5 (2

24 (3)

64 (4)
Magyar Nederlands G [ 93y
cimkez gelabeld ant oAme 05
egyenlOszaru haromszog gelijkbenig AteA AICT ot DOYPIW-NNY
trapéz trapezium TN 1970
négyzet vierkant QA Aét A PFT N3
csikos teriilet gestreepte vlak ¢-taovlm- 0 J- WNPN NLY
teriilet oppervlakte ng noY
pozitiv positieve 7't 1N
egesz szam geheel getal &7 RTC DbY 19010

b e N N e N N

.(0"VY) N2YN7I NI'NAT 'YX TDINT7 NNIMW NIFIDTN 70 ©

710NN ANDL YR R71,NINN D770 IR 171D ,0TNT77 IR JYXNN 7021 1IN 722 ,0I00 DYO7 IR IT NN Y'ONT7 IR 7'Nyn7 |'R

.N2YN7I NI'NAY7 'YX



b e N N N N N N

Quantitative Reasoning - First Section - 60 - February 2016

The price of a chocolate cookie is 1.5 times the price of a walnut cookie.
The price of a walnut cookie is 5 times the price of a date cookie.
The price of a date cookie is 2 shekels.

What is the maximum number of cookies that can be bought with 33 shekels, if the purchase
includes at least one cookie of each type?

(1) 10
(2) 8
3) 6
4) 4

The letters A, B, and C represent different digits from 1 to 9.

Given: _ AA
A
CBA
A-C=?
1
2) 2
3) 3
4 4
English Pyccknit Portugués Deutsch Italiano
at least 10 MEHbIIIeI Mepe pelo menos mindestens almeno
udpst algarismos Ziffern cifre
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6. Yaniv's garden has 10 herb beds: 4 beds of mint and 6 beds of lemongrass.
The number of seedlings in each mint bed is twice the number of seedlings in each
lemongrass bed.
The garden has a total of 70 seedlings.

How many mint seedlings are there in the garden?

(1) 24
2) 32
(3) 36
) 40

7. In the accompanying figure, ABC is a right triangle.

Based on the information in the figure,

what is the volume (in cm?) of the cone A
that is obtained by rotating the triangle around side AB?
6 cm

(1) 1em q

(2) 24m -]

3) 32m C——8

(4) 48m
English Pycckmi Portugués Deutsch Italiano
beds TPAIKA canteiros Beete Ecli)liglveétzree
seedlings y4YKN mudas Setzlinge pianticelle
right triangle gggx?}’;?;;bm ;reigrrllgg?llﬁ) grcili?é/li(nkliges triangolo retto
volume 06peM volume Inhalt volume
cone KOHYC cone Kegel cono
rotating BpallleHme rotagdo drehen ruotando
side CTOpOHa lado Seite lato
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/ Chart Comprehension (Questions 8-11)
Study the charts below, then answer the four questions that follow.
The charts below show data for the years 1995-1998 for two of the factories that belong to the
Tip-Top Office Supplies Company: Graphix and Printext.
For each factory, the charts show each year's income (in thousands of shekels), and what percentage it
constitutes of Tip-Top's total income for that year (see key).
Example: In 1995, Printext's income was 104,040 shekels, which constituted 51% of Tip-Top's total
income for that year.
70
/ 42
26.52 5 19.5 25%
Graphix — 11% [12%
P R O B e
1995 1996 1997 1998
Key:
Graphix's income
(in thousands of shekels) 168 168
", Erintext's income
(in thousands of shekels)
104.04
Percentage of Tip-Top's 97.5
income
55% 60%
. 51% 9
Printext 48%
1995 1996 1997 1998
/ Note: In answering each question, disregard the information appearing in the other questions.
/ English Pycckui Portugués Deutsch Italiano
. material de . forniture per
Office Supplies | kaHIeIAPCKUE TOBAPHI eSCritorio Biirobedarf ufficio
income TOXOMbI renda Einnahmen le entrate
/ percentage MPOIEHTHI porcentagem Prozentsatz percentuale
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26.52
19.5 25%
13% 1% | 129 70299
mm i =
1995 1996 1997 1998
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104.04 975
. ™MD NN
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Questions

8.

What was the ratio of Graphix's income to Printext's income in 19977

(1) 1:6 2) 1:12 3) 1:3 “4) 1:4

10% of Graphix's income is divided equally among its three factory managers in the form of a
bonus.

How much did each manager receive as a bonus for 1998 (in thousands of shekels)?

M) 1%
@ 24
3 2%

“4) 4

[
e

Which of the following statements is not correct?

(1) When Graphix's income decreased, so did that of Printext.

(2) The combined income of the two factories was highest in 1997.

(3) Tip-Top's total income was lowest in 1996.

(4) Between 1996 and 1997, the income of each of the two factories increased.

In 1996, Printext sold 32,500 notebooks.

Assuming that the factory's entire income is from the sale of notebooks,
what was the factory's average income (in shekels) from the sale of a single notebook that year?

15
@ 3%
3

3) 3

4 4
English Pycckuit Portugués Deutsch Italiano
ratio COOTHOIIIEHUE razio Verhiltnis rapporto, proporzione
.. sdo divididos . i . diviso/e in modo
divided equally | mensarcst nopoBHY igualmente gleichmiBig verteilt uguale
bonus IpeMus bonus Bonus premio
notebooks TeTpagu cadernos Hefte quaderni
average cpenHss média Durchschnitts- media

e e e e N N U N N
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arany verhouding TRAC o>
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fiizet schriften LA+CF ™mHann
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/ Questions and Problems (Questions 12-20)
12. The accompanying figure shows parallelogram ABCD. E is a point on side AD.
CE bisects <BCD.
Based on this information and the information in the figure,
o="?
A E D
o
(1) 22° S
(2) 36°
(3) 45° B C
(4) 40°
13.  There are two faucets that can be used to fill a swimming pool. If only one faucet is turned on, it
takes 4 hours to fill the pool. If only the other faucet is turned on, it takes 8 hours to fill the pool.
How many hours will it take to fill the pool if both faucets are turned on at the same time?
1
(1) 23
/ 2) 2
3) 3
2
@) 25
14. The "diversity" of an integer n is defined as the number of different prime numbers by which n
is divisible.
Which of the following numbers has the smallest diversity?
(1) 18
2) 28
3) 32
4) 45
English Pycckui Portugués Deutsch Italiano
parallelogram HapajuleNIorpaMm paralelogramo Parallelogramm parallelogramma
bisects IeIUT HaIBOE divide, € bissetriz | halbiert biseca
faucets KpaHbI torneiras Wasserhihne rubinetti
pool 6acceitn piscina Becken piscina
prime numbers IIPOCTBIE YMCIIa nimeros primos | Primzahlen numeri primi
/ divisible IEeTNTCA € divisivel teilbar divisibile
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22° (1
36° (2)
45° (3
40° @
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77N> 0721 7Y DN NN DX 157210 XONHN MYV NNd3a

1
2@ (L

2 @
303

2
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.DN2 PONDN N-Y M MY DNV DPNYNIN DXITDNT 190N T 1T N OOV 19010 DY "y 14

1012 VPN PN DINIAN DXION D NOND

18 (1

28 (2

32 (3

45 @
Magyar Nederlands b T [ 92y
paralelogramma parallellogram Ah-A 1 Aét moapn
kettevag, felez halveert eLCcan N3N
csapok kranen P@-7 079, aond FPT o1
medence zwembad P PE 175 noM
torzsszamok priemgetal NFE &PCT DMNMYNI DXIDN
oszthato deelbaar £2hiAA PoNIN
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[
4

In a certain country, 80% of the citizens speak English or French. Of these, 40% speak both
languages.

What percentage of all the country's citizens speak only one of these languages?

(1 32%
(2) 48%
3) 52%
4) 64%

[
a

There is no X for which the expression equals 1.

M) Tix

1
@ Tix 1

() 1-x

@ T *!

A polygon is drawn on each of X pages. On half of these pages, a regular hexagon with sides of
length a cm is drawn, and on the other half, an equilateral triangle with sides of length a cm is
drawn.

The sum of the perimeters of all the polygons on the pages is 450a cm.

X=7

(1) 90
2) 100
(3) 150
4) 225

b e N N N N N N

English Pycckuit Portugués Deutsch Italiano

polygon MHOTOYTOJIbHUK poligono Vieleck poligono
MIPaBUJIbHBIN . regelméliges

regular hexagon hexdgono regular esagono regolare
HMIECTUYTOTIbHMK Sechseck

equilateral PaBHOCTOPOHHUI triangulo gleichseitiges triangolo

triangle TPeyroIbHUK equilatero Dreieck equilatero

sum cymMMa soma Summe somma

perimeters HepUMeTphI perimetros Umfinge perimetri
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sokszog veelhoek 1 NH- yoI8N0
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18.  The accompanying figure shows a square with sides of length 4 cm.
Two of the square's vertices are the centers of circles with radius 1 cm.

What is the sum of the areas of the shaded regions (in cm?)?

1) 7 +16

2 Sm+14
T

3 18-%
3n

4 20-5-

4 cm

1cm /

1cm

[y
hed

Given: X is an integer.

The expression ( 23 >X is an integer.

The number X is necessarily -

(1) greater than 6
(2) odd

(3) divisible by 6 without a remainder
(4) divisible by 4 without a remainder

English Pyccknit

Portugués

Deutsch

Italiano

vertices BEpIINHDI

vértices

Eckpunkte

vertici

radius panuyc

raio

Halbmesser

raggio

shaded regions 3aKpallleHHbIe QUTypbl

areas sombreadas

schraffierte Flichen

Zone scure, in
neretto

odd HEeYeTHOE

fmpar

ungerade

dispari
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/ 20. xandy are integers (positive or negative).
Given: 50 < x?> <90
10<y?<50
The greatest possible value of [x-y]| is
(1) 16
2) 13
3) 5
@ 4
/ English Pycckuit Portugués Deutsch Italiano
negative OTpULATE/IbHOE negativos negativ (minus) negativi
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This section contains 20 questions.

Quantitative Reasoning The time allotted is 20 minutes.

This section consists of questions and problems involving quantitative reasoning. Each question is followed by four
possible responses. Choose the correct answer and mark its number in the appropriate place on the answer sheet.

Note: The words appearing against a gray background are translated into several languages at the bottom of each page.

General Comments about the Quantitative Reasoning Section

k

The figures accompanying some of the problems are provided to help solve the problems, but are not necessarily drawn
to scale. Therefore, do not rely on the figures alone to deduce line length, angle size, and so forth.

If a line in a figure appears to be straight, you may assume that it is in fact a straight line.

When a geometric term (side, radius, area, volume, etc.) appears in a problem, it refers to a term whose value is greater
than 0, unless stated otherwise.

Whenva (a > 0) appears in a problem, it refers to the positive root of a.
"0" is neither a positive nor a negative number.

"0" is an even number.

"1" is not a prime number.

Formulas
1. Percentages: a% of X is equal to % - X 10. The area of a trapezoid with one b>
2. Exponents: For every a that does not equal 0, and for base length a, the othegl))ashe length b, h §
any two integers n and m - and altitude h is % P E——
a. al= Ln 11. The sum of the internal angles of an n-sided
b, am+*n i am. a" polygon is (180n — 360) degrees. In a regular
’ n n n-sided polygon, each internal angle measures
m_(m
¢. am=("a)" 0<a0<m (1%n—%0>=@&%_%0>®g%&
n-m n\m n n
d a =(a")

12. Circle:
a. The area of a circle with radius r
(a+b)’>=a’+2ab +b? is Tr% (1 = 3.14...)

(a+b)a-b)=a%-b?

Contracted Multiplication Formulas:

b. The circumference of a circle is 27r w’

Distance Problems: ditsitrerl]réce = speed (rate)

c. The area of a sector of a circle with a

central angle of X° is mr? . X

Work Problems: W = output (rate) 360
13. Box (Rectangular Prism), Cube:
Factorials: n!=n(n-1)(n-2)-...-2-1 a. The volume of a box of length a, -’
width b and heightcisa-b-c b
Proportions: If AD||BE|ICF A D b. Th . f the box i a
AB  BC ] AB  DE 5 = . The surface area of the box is
thenﬁ_?an AC - DF R . 2ab + 2bc + 2ac
c. Inacube,a=b=c
Triangles:

a. The area of a triangle with base of 14. Cylinder:

length a and altitude to the base of
a-h
2
b. Pythagorean Theorem:
In any right triangle ABC, as in the
figure, the following always holds

true: AC? = AB? + BC?

a. The lateral surface area of a cylinder with —3
base radius r and height h is 27tr - h

length h is

<« 5—>

b. The surface area of the cylinder is

a
A 4,
%0, 272 + 270r - h = 270r(r + h)
leg e'i,,&e
B C
leg

c. The volume of the cylinder is 7tr>- h

c. In any right triangle whose angles measure 15. The volume of a anﬁ with base radius r
30°, 60°, 90°, the length of the leg opposite . 1
the 30° angle is equal to half the length of and height h is 3 71
the hypotenuse. 16. The volume of a pyramid with base

The area of a rectangle of length a bl:l area S and height h is S-h
and widthbisa - b 2 3

Copyright © by the National Institute for Testing and Evaluation. All rights reserved.
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(1 18
2) 22
3) 25
@) 27

Questions and Problems (Questions 1-10)

1. The accompanying figure shows rectangle ABCD.

Based on this information and the information in the figure,
what is the sum of the areas of the shaded regions (in cm?)?

6 cm

5 cm

4 cm

2. Given:

X="7

(D
()
3)
4) -4

X+ 12 -x-1)?=24

a="?

(1) 15°
2) 20°
(3) 30°

(4) 45°

3. Based on the information in the figure,

English

Pycckuit

Portugués

Deutsch

Italiano

rectangle

IIpsAMOYTOIbPHUK

retangulo

Rechteck

rettangolo

sum

cymMMa

soma

Summe

somma

shaded regions

3aKpallleHHbIe PUTypbI

areas sombreadas

schraffierte Flachen

ZOne scure,
in neretto
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n"o 6

n"o 5

n'o 4

Ja5n 0 ABCD 05795% 010903
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18 (1
22 ()
25 (3)
27 4

(10-1 M9Nw) YY) MONY

A

X+ 1D2=(x-1)2=24 m

4 (4

,0IVIDIY DINNIN 13D

oa="

15° (v
20° (2)
30° (3)

45° (4

Magyar

Nederlands

b G [

D92y

teglalap

rechthoek

+m. 1 hét

ARbJal

0sszeg

Som

L

[mhm)v)

arnyekos teriilet

grijze vlakken

e hmbst 0 FPF

03 DXNLY
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4. Every day, a train travels from city A to city B at a constant speed. The journey takes 8 hours.
One day the train traveled as usual until it reached exactly half the distance, where a problem
occurred, causing the train to travel the rest of the way at % its regular speed.

How many hours did it take the train to travel from city A to city B on that day?
(1) 10
2) 12
3) 14
4) 16
S. Given: a and b are consecutive numbers, 0 <a<b .
a-b=4a
a="?
(1 o
(2) 2
(3) 3
“ 8

6. Moshe studied for his final exams for 3 weeks, 7 days a week. During the first week, he studied
7 hours a day; during the second week, 6 hours a day; and during the third week, 5 hours a day.
Moshe has a total of 9 exams.

Moshe studied an average of hours per exam.

@D 9

2) 21

3) 18

@ 14
English Pycckuit Portugués Deutsch Italiano
constant MTOCTOSTHHAS constante gleichbleibend costante
rest 0CTaTOK resto Rest rimanente
consecutive IOC/IenoBaTeIbHbIE ndmeros aufeinander folgende | numeri
numbers qucna consecutivos Zahlen consecutivi
average cpemHui média Durchschnitt media
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a= 9
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2 Q)

3 3

8 (4
DY MYV 7 wWIpn XN PYNIN WAV Nava 00> 7, myav 3 una mvn )0 mnad Tmd nvn N)

N2 9 510 70 PN Nvnd .0ra Myw S5 - owbwin ¥1avay 013 My 6 - 2w Yava Tindd

/ IPNAD P8P MYV D Nwn

9 (1

21 ()

18 (3

/ 14 @
Magyar Nederlands ATICT 93y
allando constante rrIeAPOP P
maradéek rest PbL D7 INY
eg'ymast koveto opeenvolgende getallen +hrJe erCT DXAPY DI9DN

szamok

/ atlag gemiddeld A1 YN
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N

AD is a diameter of the outer circle.

Given: The area of the inner circle is 47.

AB = CD = +BC

What is the area of the shaded region?

(1) 16w
2) 121
(3) 8m
@) 4m

The accompanying figure shows two circles with center O.

&

Given: 1 <x<2

Which of the following inequalities is not correct?

(1) 1<x*<4
2 F<y<l
3) 1<vx <V2

4 -1<-x<1

English Pycckmit Portugués

Deutsch

Italiano

diameter IVaMeTp didmetro

Durchmesser

diametro

outer BHEIIHU externo

aufler

esterno

inner BHYTpPEHHUII interno

inner

interno

inequalities HEpPaBEHCTBA inequagdes

Ungleichheiten

diseguaglianze
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9. On Sunday, Esther sold 70% of her flowers, and on Monday she sold the rest of them.
The difference between the number of flowers Esther sold on Sunday and the number of flowers
that she sold on Monday is 12.

What was the total number of flowers that Esther sold?

(1 15
2) 20
(3) 25
@) 30

[
e

The number of pens in Jacob's pen collection equals % the number of pens in Simon's
collection.

What proportion of his own collection must Simon give to Jacob in order for both of them to
have the same number of pens?

€]
2

3)

“)

English Pycckuit Portugués Deutsch Italiano

proportion JacTh parte Teil proporzione
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Chart Comprehension (Questions 11-14)
Study the chart below, then answer the four questions that follow.

The chart below provides information about five hot-air balloons, A, B, C, D, and E, that started out on
a four-hour flight together. Each shape on the chart represents the range of speeds and the range of
altitudes at which one hot-air balloon flew during the flight. In the course of the four hours, sandbags
were thrown overboard from the balloons. The three numbers inside each shape indicate the number of
sandbags that were in the hot-air balloon at different points in time: the left-hand number indicates the
number of bags at the beginning of the flight; the middle number is the number of bags when the
balloon was at its highest altitude, and the right-hand number is the number of bags remaining at the
end of the flight (see key).

Example: Balloon B flew at altitudes of 400-780 meters. At its highest altitude it held 8 sandbags, and
it traveled at speeds ranging from 2.2 kph to 6.8 kph.

(kph = kilometers per hour)

Altitude Key:
(in meters)
1,000 4 X:Ysz2
X - number of bags at the
900 beginning of the flight
y - number of bags at the
800 7 highest altitude
700 4 Z - number of bags at the
end of the flight
600 -
500
400
300
200
100
. Speed

1 1 =
> 4 6 8 10 12 14 16 18 20 (nkeh)

Note: In answering each question, disregard the information appearing in the other questions.

English Pyccknit Portugués Deutsch Italiano

hot-air balloons | Bo3aymHble mapsl | baldes de ar quente | HeiBluftballons mongolfiere

shape topma forma Form forma

range HHTEPBAI extensao Spielraum campo, gamma, ambito
speeds CKOPOCTH velocidades Geschwindigkeiten | velocita

altitudes BBICOTBI altitudes Hohen altezze

flew HaXOUJIICA pairou flog ha volato

sandbags MEIIIKK C TIeCKOM | sacos de areia Sandsicke sacchi di sabbia
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/ Questions
11.  Each time a sandbag is thrown overboard, the hot-air balloon rises 30 meters.
What is the maximum altitude (in meters) that balloon D could reach if, at the highest altitude
indicated for it on the graph, all its sandbags were thrown overboard at the same time?
/ (1) 550
(2) 500
(3) 430
4) 410
12. Each sandbag weighs 50 kilograms. Balloon A weighs 1,000 kilograms without the bags.
weight of balloon A at the end of the flight _ 9
weight of balloon A at the beginning of the flight '
3
@D Fo
2
/ @ 5
23
3 3p
37
@ 35
English Pycckmi Portugués Deutsch Italiano
rises YBENUYUBAETCS sobe steigt sale a ...
/ weight BEC peso Gewicht, wiegt peso
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[y
w

Which of the following pairs of balloons could have crashed into each other during their four-
hour flights?

(1) Aand B
(2) CandD
3) AandE
(4) Band E

[
b

During the four hours represented in the graph, a sandbag was thrown overboard from balloon B
every ____ minutes, on average.

(1) 16
) 24
(3) 36
) 48

English Pycckmnit Portugués Deutsch Italiano

pairs napsl pares Paare coppie

crashed CTOJIKHYIIUCh colidido zusammenstoBen scontrati

b e N N N N N N
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Questions and Problems (Questions 15-20)

15. Given: O<a-b

%+%:a+b

Which of the following necessarily follows from the information given?

(1) b*=a°
(2) a-b=1
(3) a’+b?=1
b> _a’
@ 3 =5
2X+y
16. For any two numbers X and Y, the operation $(x,y) is defined as $(X,y) = SXY
Given: $(k,1)=4
k=7
(1) k can be any number
2) 2
3) 16
4 4
English Pycckuit Portugués Deutsch Italiano
follows from crenyeT deriva ergibt sich aus deriva da
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[
N

1

(D 5

[«

@ =5
3) #
@) é

A fair coin is tossed 10 times.

What is the probability that the coin will land on the same side all 10 times?

[
*°

a+b=7?

1
2 2
3) a
“4) b

Given: a-b=a
b2<b

English

Pycckuit

Portugués

Deutsch

Italiano

fair coin

CTaHJapTHaA MOHETa

moeda bem
equilibrada

reelle Miinze

moneta ben
equilibrata

tossed

6pocarT

lancada

hochgeworfen

viene gettata in
aria

probability

BEPOATHOCTD

probabilidade

Wahrscheinlichkeit

probabilita
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19. The accompanying coordinate system shows a circle with center O at the origin and radius 1.
AB is tangent to the circle at point C.

Based on this information and the information in the figure, y
what is the area of triangle AOB?

3) V3

(4) It cannot be determined from the information given.

A
A
1 C
2) V2 ﬁ 135°

20. The sum of the internal angles of an n-sided polygon is half the sum of the internal angles of an
(n + 5)-sided polygon.

n=7?

5

2 6

3) 7

“4) 8
English Pycckuit Portugués Deutsch Italiano
coordinate cicTeMa KoopaUHAT sistema de Koordinatensystem sistema di
system coordenadas coordinate
radius panuyc raio Halbmesser raggio
tangent KacaTreylbHasA tangente Tangente tangente
triangle TPEYTONbHUK triangulo Dreieck triangolo
internal angles BHYTpPEHHUE YITIbI angulos internos | Innenwinkel angoli interni
-sided CTOPOH lados -seitig di "n" lati
polygon MHOTOYTOJIbHUK poligono Vieleck poligono
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ENGLISH This section contains 22 questions.

The time allotted is 20 minutes.

The following section contains three types of questions: Sentence Completion, Restatement

and Reading Comprehension. Each question is followed by four possible responses. Choose
the response which best answers the question and mark its number in the appropriate place
on the answer sheet.

Sentence Completions (Questions 1-8)
This part consists of sentences with a word or words missing in each. For each question,
choose the answer which best completes the sentence.

1. Dogs may get sick or even from eating grapes.

(1) die
(2) chew
(3) win
(4) pray

2. Scientists believe that the first animals to fly were not birds, but dinosaurs with .

(1) wings
(2) scissors
(3) tents
(4) recipes

3. Using advanced computers, scientists can
than ever before.

meteorological data more efficiently

(1) analyze
(2) resist

(3) interrupt
(4) persuade

4.  Unlike many politicians, whose views shift over time, Benjamin Disraeli voiced

the same opinions throughout his career.

(1) confidentially
(2) eventually
(3) consistently
(4) erroneously
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Coral is so to pollutants that its growth rate can be used to monitor the purity of
the surrounding water.

(1) grateful
(2) abusive
(3) sensitive
(4) identical

The economy of Tonga is based primarily on agriculture; bananas, watermelons, yams
and sugar cane are the chief

(1) folds
(2) rolls
(3) yawns
(4) crops

Once the most impoverished region of the United States, the South is now quite

(1) prophetic
(2) prosperous
(3) eloquent
(4) elementary

Large quantities of precious stones are being by illegal miners in Afghanistan.

(1) commended
(2) pillaged
(3) embellished
(4) alleged

Copyright © by the National Institute for Testing and Evaluation. All rights reserved.
The test or any part of it may not be taught, copied or distributed in any form or by any means without written permission from the National
Institute for Testing and Evaluation.

b e N N e N N



N N e N N N R N

English - First Section -100 - February 2016

Restatements (Questions 9-12)

This part consists of several sentences, each followed by four possible ways of restating the
main idea of that sentence in different words. For each question, choose the one restatement
which best expresses the meaning of the original sentence.

9.

Leave nothing for tomorrow which can be done today. (Abraham Lincoln)

(1) Anything that can be done today can also be done tomorrow.
(2) What you do today will affect the days to come.

(3) Always work hard to prepare for tomorrow.

(4) If something can be done today, it should be.

10.

By 2000, more than 80 percent of Americans resided in metropolitan areas.

(1) More than 80 percent of American families have relocated since 2000.
(2) More than 80 percent of American cities were overpopulated in 2000.

(3) More than 80 percent of Americans were commuting to work by 2000.
(4) More than 80 percent of Americans lived in or near big cities by 2000.

11.

The Greek philosopher Anaximenes was more admired in ancient times than his
colleague Anaximander, though people in the modern world would probably think more
highly of the latter than the former.

(1) Anaximenes' evaluation of Anaximander is no longer believed to be correct, given
the information we have about them today.

(2) Contrary to what we may think today, it is likely that Anaximenes and
Anaximander — who were Greek philosophers and colleagues — admired one
another greatly.

(3) In order to determine today whether Anaximenes or Anaximander was the better
philosopher, it is necessary to consider what people thought about them in ancient
times.

(4) People today would probably admire Anaximander more than Anaximenes, though
in the past Anaximenes was the more highly regarded of the two.

12.

In the eyes of King Louis XIV of France, the sole function of literature was the
unqualified glorification of the monarch.

(1) King Louis XIV allowed only flattering works of literature to be written about him.

(2) King Louis XIV demanded that he be glorified as much as possible — especially in
works of literature.

(3) King Louis XIV thought that the main role of literature was to support the
institution of the monarchy.

(4) King Louis XIV believed that literature had only one purpose — to praise the king
unconditionally.
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Reading Comprehension
This part consists of two passages, each followed by several related questions. For each
question, choose the most appropriate answer based on the text.

Text I (Questions 13-17)

(1) Blue Willow china is perhaps the most famous and most popular tableware ever
produced in Britain. Indeed, most British households boast at least a piece or two. The
traditional blue-and-white dishes were first made in Staffordshire, England, in the late
1700s by the Caughley Porcelain company. The design has been attributed to Thomas

(5  Minton, an apprentice engraver at Caughley. It features a large house, a bridge, and a
pair of love birds above a willow tree and is said to be based on an old Chinese love
story:

Long ago, the beautiful daughter of a wealthy man fell in love with a humble
servant called Chang. Her father, who planned for her to marry a powerful duke, was
(10) outraged. He dismissed Chang from service and built a high fence around his house to
keep the lovers apart. His daughter, he declared, would wed the duke on the day that
the first blossom fell from the willow tree. But on that day, the daughter and Chang
fled, escaping across a bridge. When the father caught up with the couple, they were
miraculously transformed into birds and fluttered beyond his reach.

(15) There is some dispute as to the authenticity of this tale: There are those who claim
that Minton simply made it up in order to generate interest in his wares. Whatever the
case may be, the love birds remain immortalized in blue-and-white porcelain.

Questions

13.  Which of the following statements about Blue Willow china does not appear in the first
paragraph?

(1) It originated in China.

(2) It was produced in the late 1700s.
(3) It is blue and white.

(4) It features a pair of love birds.
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14. "Indeed, most British households boast at least a piece or two" (line 2) could best be
restated as -
(1) There are only a few pieces of Blue Willow china left in Britain.
(2) Few people can afford a complete set of Blue Willow china.
(3) Almost every family in Britain has some Blue Willow china.
(4) Blue Willow china is not produced outside of Britain.
15. Inline 10, "dismissed Chang from service" can best be replaced with -
(1) accepted Chang
(2) gave Chang more work
(3) decided to kill Chang
(4) fired Chang from his job
16. According to the second paragraph, on the day that the first blossom fell from the
willow tree -
(1) the wealthy man's daughter married the duke
(2) the duke ran after the lovers
(3) the daughter ran away with Chang
(4) the father turned the lovers into birds
17. What lesson can be learned from the story presented in the second paragraph?

(1) Children should always listen to their parents.
(2) True love can survive anything.

(3) Money gives people power.

(4) You can't run away from your troubles.

Copyright © by the National Institute for Testing and Evaluation. All rights reserved.
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Text II (Questions 18-22)

ey

(&)

10)

15)

(20)

Though forms of greeting vary from culture to culture, the handshake is perhaps the

most universal gesture used when two people meet. Yet, as attested to by the abundance
of "how-to" guides available on the Internet, even this seemingly simple act can be
carried out and understood in a myriad of ways.

The finer points of how to shake hands are not a new concern. Emily Post, the

legendary authority on good manners, addressed this subject in her 1922 manual,
Etiquette in Society, in Business, in Politics, and at Home. Though much has changed
in the world since Post's time, particularly with regard to the status of women, some of
the points she makes still pertain:

A handshake often creates a feeling of liking or of irritation between
two strangers. Who does not dislike a "boneless" hand extended as though
it were a spray of sea-weed, or a miniature boiled pudding? It is equally
annoying to have one's hand clutched aloft in grotesque affectation and
shaken violently sideways, as though it were being used to clean a spot out
of the atmosphere. What woman does not wince at the viselike grasp that
cuts her rings into her flesh and temporarily paralyzes every finger?

The proper handshake is made briefly; but there should be a feeling
of strength and warmth in the clasp, and, as in bowing, one should at the
same time look into the countenance of the person whose hand one takes.
In giving her hand to a foreigner, a married woman always relaxes her
arm and fingers, as it is customary for him to lift her hand to his lips. But
by a relaxed hand is not meant a wet rag; a hand should have life even
though it be passive. A woman should always allow a man who is only an
acquaintance to shake her hand; she should never shake his.

Questions

18. An appropriate title for this text would be -

(1) Emily Post on the Status of Women

(2) A Universal Form of Greeting

(3) A Legendary Manual on Good Manners
(4) Handshakes and Other Social Norms
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19. Which of the following might have been discussed in Emily Post's manual?

(1) how to earn money

(2) how to write a thank-you note
(3) the history of politics

(4) the women's rights movement

20. The main purpose of the third paragraph is to -

(1) compare various types of handshakes

(2) discuss wrong ways to shake hands

(3) present the history of the handshake

(4) describe how strangers should shake hands

21. The type of handshake described in lines 15-16 ("What woman . . . every finger?")
causes -

(1) pain

(2) shame
(3) fear

(4) confusion

22. According to the text, a proper handshake should be all of the following except -

(1) relaxed
(2) warm
(3) strong
(4) long

b e N N N N N N
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ENGLISH This section contains 22 questions.

The time allotted is 20 minutes.

The following section contains three types of questions: Sentence Completion, Restatement

and Reading Comprehension. Each question is followed by four possible responses. Choose
the response which best answers the question and mark its number in the appropriate place
on the answer sheet.

Sentence Completions (Questions 1-8)
This part consists of sentences with a word or words missing in each. For each question,
choose the answer which best completes the sentence.

1.  Mount Whitney is the highest point in California, while Death Valley is the

(1) farthest
(2) strangest
(3) brightest
(4) lowest

2.  Anelephant's trunk is so that it can move in any direction.

(1) flexible
(2) passionate
(3) ambitious
(4) hostile

3.  The Great Pyramid at Giza was built to a tomb for Pharaoh Khufu of the Fourth

Dynasty.

(1) focus on
(2) serve as
(3) interfere with
(4) reply to

4.  Bull sharks are unusual because they can breed in oceans or freshwater lakes.

(1) even
(2) whether
(3) while
(4) either
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The ancient Egyptians were the first people to
homes.

wild cats and keep them in their

(1) tempt
(2) trace
(3) twist
(4) tame

At one time, movie theaters had Wurlitzer organs, which were used to provide musical
to silent films.

(1) monument
(2) resentment
(3) accompaniment
(4) instrument

small leaflets.

Some broadleaf trees have compound leaves that are

(1) picked up by
(2) made up of

(3) carried away by
(4) cut down for

For most cases of back strain, extended bed rest may rather than help recovery.

(1) survey
(2) portray
(3) concur
(4) hinder
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Restatements (Questions 9-12)

This part consists of several sentences, each followed by four possible ways of restating the
main idea of that sentence in different words. For each question, choose the one restatement
which best expresses the meaning of the original sentence.

9.

Never before has Indonesia been mentioned in the American press as frequently as this
year.

(1) This year, Indonesia was mentioned in the American press just as frequently as in
any previous year.

(2) This year, according to many reports in American newspapers, was Indonesia's most
eventful year ever.

(3) This year, more American newspapers were read in Indonesia than ever before.

(4) This year, the American press has mentioned Indonesia more often than during any
previous year.

10.

The African Grey parrot can mimic human speech.

(1) The African Grey parrot can be taught to communicate verbally.
(2) The African Grey parrot can imitate a person speaking.

(3) The African Grey parrot interacts well with humans.

(4) The African Grey parrot understands human speech.

11.

Radios made in the 1940s were enormous.

(1) Many radios were made in the 1940s.
(2) Radios were expensive in the 1940s.
(3) In the 1940s, radios were very large.
(4) In the 1940s, everyone had a radio.

12.

Some scientists are concerned that the autonomy of science will be undermined if
excessively rigid moral standards are applied to the field.

(1) Some scientists are concerned that if science continues to develop without proper
moral guidelines, it will stop fulfilling its intended function.

(2) Some scientists are worried that the application of overly strict moral standards to
science will compromise its independence.

(3) The lack of rigid moral standards in science worries many scientists, who fear that
their discoveries will be misused.

(4) Some scientists are concerned that not enough effort has been made to apply moral
principles to scientific investigation.
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Reading Comprehension
This part consists of two passages, each followed by several related questions. For each
question, choose the most appropriate answer based on the text.

Text I (Questions 13-17)

(1) Arnold Lobel died in 1987, leaving behind a legacy of enduring and endearing
children's books, including the beloved Frog and Toad series. Widely praised for their
wit and wisdom, Lobel's books have been translated into many languages and are read
throughout the world. Even today, over forty years after their initial publication, the

5) books continue to be reprinted, used in classrooms, and enjoyed by children
everywhere.

Lobel had a unique ability to craft stories that appeal to children and parents alike.
Though his language is simple and clear and his sentences short, Lobel's "easy readers"
are nevertheless humorous, emotion-packed, insightful, and full of exuberant dialogue.
(10)  Furthermore, his quirky animal characters have very human personalities with a hint of
both naivete and sophistication.

Lobel's illustrations were also highly original. There was, for example, a certain
shade of green — slime green — that other artists would not go near, and yet Lobel used it
to beautiful effect. Sometimes, the results of his creativity surprised even Lobel

(15)  himself. Some months before he died, he viewed the proofs for one of his last books
and remarked: "I can't believe I did this."

Questions
13. An appropriate title for this text would be -

(1) The Frog and Toad Series: The Best of Arnold Lobel

(2) Crafting Stories for Children and Parents

(3) Doubly Gifted: Writers Who Illustrate Their Own Works
(4) The Appeal of Arnold Lobel's Children's Books
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14.

The main purpose of the first paragraph is to -

(1) describe the educational value of Lobel's books
(2) discuss some of Lobel's books

(3) present Lobel's enduring legacy

(4) praise Lobel's wit and wisdom

15.

According to the second paragraph, Lobel's books are -

(1) scary but entertaining

(2) funny and easy to read

(3) used to teach reading at different levels
(4) about humans and animals

16.

It can be understood from the last paragraph that Lobel -

(1) was more famous as an illustrator than as a writer
(2) was never satisfied with his own work

(3) continued writing throughout his life

(4) avoided taking risks

17.

Which of the following is not one of the reasons Lobel's stories are so well liked?

(1) They are written in simple language.

(2) They are witty and wise.

(3) Their characters are both naive and sophisticated.
(4) They have surprising endings.

Copyright © by the National Institute for Testing and Evaluation. All rights reserved.
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Text II (Questions 18-22)

ey

(&)

(10)

15)

Panama hats have graced the heads of Winston Churchill, Nikita Khrushchev,
Humphrey Bogart and Michael Jordan, to name but a few. Hand-woven, handsome and
of superior quality, Panama hats have been a symbol of elegance, luxury and style for
over a century.

In the town of Montecristi in Ecuador, one of the main centers of production, master
craftsmen still ply their trade, creating the famous hats from straw. Depending on the
thickness of the straw and the quality of the weave — standard, fine or superfine — it can
take anywhere from a day to several months to make a Panama hat. The finest of them —
Superfinos — can sell for hundreds or even thousands of dollars and are much sought
after by customers abroad. Sadly, the weavers are rarely compensated adequately, and
the profits go to the foreign dealers who buy the hats from them for a pittance.
Moreover, cheap, mass-produced straw hats abound. As a result, the industry has been
in decline for several years. In Montecristi, where there were 2,000 master weavers just
two generations ago, only 20 remain. The weavers, now in their 70s and 80s, shake
their heads when asked if their children are learning the trade. Because of Ecuador's
recent economic crisis, many young people have left the area to look for better jobs
elsewhere, and those who remain are not keen to learn the painstaking, backbreaking
craft of fine weaving.

U.S. businessman Brent Black has taken upon himself the task of breathing new life

(20)  into the art of fine hat weaving in Montecristi. He believes the key to success is
ensuring that the weavers earn a decent living from their craft. To this end, Black pays
them significantly more than other dealers do and is rekindling the market with
extensive advertising campaigns.

Questions

18. According to the first paragraph, Panama hats -

(1) are made in Panama

(2) were made famous by Winston Churchill
(3) were first made 100 years ago

(4) are made by hand
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19. The main purpose of the second paragraph is to -

(1) describe the process of weaving a Panama hat

(2) discuss the difficulties faced by Panama hat weavers
(3) compare different kinds of Panama hats

(4) present the origins of the Panama hat

20. It cannot be inferred from the second paragraph that Superfinos -

(1) can be purchased only in Montecristi

(2) are created by the most experienced and skilled weavers
(3) require a great deal of patience to make

(4) are made from especially fine pieces of straw

21. The main purpose of the last paragraph is to -

(1) discuss changes in the market for Panama hats
(2) describe the recent increase in the demand for Panama hats
(3) present a plan to save the Panama hat industry
(4) describe the Panama hats sold by Brent Black

22. Inline 22, "rekindling" means -

(1) repeating
(2) reviving
(3) restructuring
(4) reconsidering

b e N N e N U
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EXAMPLE OF A STRONG ESSAY

Comjaetitive sports have [ong held a central role in human
societies. From the tradition of the ancient O@myias and up to
the modern extravaganzas cf the World Cu}o and the

Su}aerﬁow[: sports comjoetitions _possess the _power to enthrall vast
multitudes of }oeqpfe. On the individual level, sports encourage
pﬁysica[ activity, which contributes to yﬁysica[ health, and
teaches impoﬁant skills such as teamwork and acceptance of
c[eﬁzat, while societies refy on }ooyufar sports to unite the masses

or channel our natural tribalist instincts in a non-violent way.

Tﬁe mamfol’c[ Eenefits Off .?}001’1'5 sﬁou[d’ not 66 undérestimatedf

The basic unit of any society is the Joeoy[e who }ooyu[ate it. It
can tﬁerefore be taken for gmm‘eaf that activities which Eenefit
the individual members of a society are gooa[ for the society as a
whole. Comjoetitive sports constitute one such category of
activities. In the _past, most Joecyofe were involved in manual
labor, oﬁen worﬁing in the ﬁe[a[s, and exercising enougﬁ to
maintain a ﬁea[tﬁy Eod’y weigﬁt was not a Jaressing issue.
’Tbcfay, however, with many Jf)eoy[e spenc[mg their time engaging
in sedéntary activities, oﬁesity is on the rise and it is crucial to
encourage our citizens to exercise. One of the most popu(m’
forms of exercise 1s com}oetim’ve sports, and the health EeHeﬁts cf
sports alone are reason enougﬁ to advocate for their ]oface in

society. CBeyonc[ that, it has oﬁen been noted that com}aetitive

b N e N N N

sports instill many im}oortant values in those who ]aarticipate.

Team sports inculcate the value qf teamwork, individual-based
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sports show the partici}oant how to pusﬁ ﬁerseg( as hard as she
can, and all comyeritive sports teach the necessity cf sometimes

accejm’ng cﬁzfeat
le com}oetitive sports are ﬁeﬁofuf for individuals, tﬁey are no less

Eeneficia( to societies as a whole. Q’opu(ar sports create a
national culture which bonds diverse members of a country to
one another. The very idea cf a "national _pastime" attests to
the importance of this role. This is an esyecia(fy crucial role
toafay, as ﬁeterogenous societies contain groups qf various
re[igions and Eacﬁgrouncfs, who can all bond over the
noncontroversial entertainment jorovic(ec{ Ey sports. Beyonc[ the
_power of sports to um’fy, these activities also serve a vital role in
the divisions tﬁey cause. Humans have a natural urge to
coalesce into groups that compete with one another, a
jﬂﬁenomenon known as tribalism. ilf feff unchecked, tribalism
can lead to ethnic or Joofitica( violence. Sports allow for the
ﬁeaﬁ‘ﬁy cﬁanneﬁng cf tribalism, as groups of fans compete
against each other Ey proxy tﬁrougﬁ their teams, and usuaffy

in a non-violent manner.

C ﬁear(y, comjoetitive sports pose many Eeneﬁ’ts to individuals
and the societies that tﬁey create. With all cf these usefuf

functions fuﬁfiﬂ'ecf Ey one group of activities, comyetitive sports

b N e N N N

have certain[y earned their central role in our societies.
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EXAMPLE OF AN ADEQUATE ESSAY

SJOOYTS fwwe Been})[ayecffor centum’es, Ey men, woman cmc[
Cﬁi[ﬁﬁ’éﬂ. In a[ﬂ’IOSf every C’LL[I'M?’@ tﬁer € are %}901’1’5 tﬁat are

uniclue to them. There are also many sports that are Jo[ayecf
world wide.

Sports Eemfit }Jeoyfe and society in many cﬁ/’ﬁferent ways. When
going to a sporting event people will usually dress a certain way
to show which team, or athlete, they are rooting for. That
brings people together who generally would not be the typical
type to get along with each other.

Tersonaffy, 7 ]o(ay ffag footﬁa[( in an all womans [eague. T've
been y[aying for seven years now. In those senv years 1 have
made amazing ﬁ’ienofsﬁijas. 7 have learnt to Jo(ay with a team.
Fach year the team cﬁanges and 1 learn to acfcfajﬂt to my new
suwoum{ings. Tt Eee}os me excited for the week, Waiting for the

next game.

As a footﬁa[[ fcm (f many years, 1 have never actua(fy been to a
foot ball game in person. 1 have watched many games, whether
it is at home or at a bar, genemffy a sports bar. While
watcﬁing the game you end up ta[@ing to other ]oeoy(e who also

come to Wal'Cﬁ, cmc{ maEe newfrienc[s.

In conclusion, yeoy&a who watch games togetﬁer usua[[y end up
taﬂéing. You can a[ways meet new yeqo[e, or Bum}a into old
fm’enc{s, and you learn to ac[cfa}?t to new surround'ings.

Syorts Eeqp ]aeqp(e social, excited, and wi[ﬁng to try new tﬁings,
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EXAMPLE OF A WEAK ESSAY

In my opim’on, First Also 1 love to }Jfay and watch sports [ike
soccer, baseball, table tennis, etc. It makes me excin’ng since 1
tﬁougﬁt that comjoetition, esyecia[f , com}aetition in sports is
a[ways ex’m’em@ exciting sometimes [ittle bit violent. When 1
exhausted because of stresses of work, stua[y and c[um’ng the c[ay,
it can "rescue" me to stand up and makes me exciting!

No words can't describe this emotion in our (anguage,

In addition, sports makes friendship between not only me and
family but also me and another people that love sports even
tﬁougﬁ 7 don't know and never have seen Eefore, We can cheer
togetﬁer and we can be the "one" that love sports and cheer our
team.

Also in world cup, we can be the one because we are in same
country and a brother and sister.

When 1 was middle school student, 1 was baseball Jofayer in our
school.

So 1 love Sports so much and 1 attracted in syort's taste.
Getting scores, win the game and Eeing cﬁamyian were my
dream that 1 ﬁoyec[ in my middle school.

But in other side, it can be rea[(y violent each sports.

‘My _parents couldn't agree that 1'm going to be baseball y[ayer
because it's very hard work and sometimes it makes me irg’urec[

my Eoc[y, Tl ﬁergfore 1 think that sports is extrem[y exciting but

b N e N N N

CL[}O extrem@ Jangerousfor us, we can see in many news tﬁat

one footﬁa[f fan attacﬁec{ cmotﬁer fcms tﬁat against team tﬁat
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he hates. the result cf this is hurted, angry.

7 think sports have two cﬁﬁ[erent sides. Violent and Exciting So
we have to ﬁeqﬂ manner for enjoy the sports and control our
mind in order to treat like a culture and ﬁoﬁﬁy not just [ike
ja[aying, figﬁting and Eeing against another team and ]oeopfe
that love sports.

In conclusion, we must think Before acting. It is the best way to
enjoy sport and break the stress.

Also acting with manner, kindness and um(erstancﬁ’ng is the
way that be a gooc{ time to pfay and watch sport in our society
tocfay and can be Beneﬁt for }oeoylé

b N e N N N N
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Answer Key

February 2016

Verbal Reasoning - First Section

question number 10 |11|12|13|14|15|16 |17 |18 | 19 | 20

correct answer 1 3 3 1 3 3 3 4 3 4 2
Verbal Reasoning - Second Section

question number 10|11|12|13|14|15|16 |17 |18 | 19 | 20

correct answer 4 4 4 1 1 1 1 2 3 1 4
Quantitative Reasoning - First Section

question number 10|11 (12|13 |14 (15|16 |17 | 18 | 19 | 20

correct answer 2 3 2 4 3 2 4 2 1 4 1
Quantitative Reasoning - Second Section

question number 10|11 (12|13 |14 (15|16 |17 | 18 | 19 | 20

correct answer 1 1 3 4 4 2 1 3 4 1 3
English - First Section

question number 10|11 (12|13 |14 | 15|16 | 17 [ 18 | 19 | 20 | 21 | 22

correct answer 4 4 4 1 3 4 3 2 2 2 2 1 4
English - Second Section

question number 10|11 (12|13 |14 15|16 | 17 [ 18 | 19 | 20 | 21 | 22

correct answer 2 3 2 4 3 2 3 4 4 2 1 3 2
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CALCULATING ESTIMATES OF TEST SCORES
February 2016

An explanation and an example of how to estimate your scores on the test appears below.

You can calculate estimates of your scores in each of the test domains — Verbal Reasoning, Quantitative
Reasoning and English — as well as estimates of your General Psychometric Test scores, which are based
on your scores in these three domains.

CALCULATING YOUR RAW SCORES IN EACH OF THE TEST DOMAINS

Each correct answer is worth one point. To calculate your raw scores, add up the total number of points
you obtained in each of the three test domains (there are two sections for each of the Verbal Reasoning,
Quantitative Reasoning and English domains). At the end of this stage, three raw scores will be obtained:
araw score in Verbal Reasoning, a raw score in Quantitative Reasoning, and a raw score in English.

CALCULATING YOUR STANDARDIZED SCORES IN EACH OF THE TEST DOMAINS

Each raw score is then converted to a score on a standard scale, that is, a score that is not affected by the
particular test version, language or date. You can find your standardized scores on the Table for Converting
Raw Scores to Standardized Scores shown below.

At the end of this stage, you will obtain estimates of your standardized scores in the three test domains
(on a scale ranging from 50 to 150):

a Verbal Reasoning score (V), a Quantitative Reasoning score (Q), and an English score (E)

Table for Converting Raw Scores to Standardized Scores in Each of the Test Domains

Raw Standardized Score Raw Standardized Score Raw Standardized Score
SCOe | verpal Quanti- | english SCOe | \erbal Quanti- | english SCOe | verpal Quanti- | english
0 50 50 50 15 83 90 72 30 123 126 109
1 52 52 51 16 86 92 74 31 126 129 112
2 54 55 52 17 88 95 76 32 129 131 114
8 56 58 53 18 91 97 78 33 131 134 117
4 58 60 54 19 93 100 80 34 134 136 119
5 60 63 55 20 96 102 82 35 137 139 122
6 62 66 56 21 99 104 85 36 139 141 125
7 64 68 57 22 102 107 87 37 142 143 128
8 66 71 59 23 104 109 90 38 144 145 130
9 68 74 61 24 107 112 92 39 147 148 133
10 71 77 63 25 110 114 95 40 150 150 136
11 73 80 65 26 113 116 98 41 139
12 76 82 67 27 115 119 101 42 142
13 78 85 78 28 118 121 103 43 146
14 81 87 70 29 120 124 106 44 150

The method for calculating an estimate of scores, as described below, does not take into account
the score on the writing task. The calculation is based on the assumption that the level of ability
demonstrated in the writing task is similar to that demonstrated in the multiple-choice sections of the

Verbal Reasoning domain.
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ESTIMATING YOUR GENERAL SCORES

In order to estimate your general scores, first calculate your weighted scores.

m  Multi-Domain General Score: The scores in the Verbal Reasoning and Quantitative Reasoning domains

receive twice the weight of the English domain score. The calculation for the weighted multi-domain score

is 2V+25Q+E .

m  Humanities-Oriented General Score: The weight of the score in the Verbal Reasoning domain is three times
the weight of the other scores. The calculation for the weighted humanities-oriented score is w
m  Sciences-Oriented General Score: The weight of the score in the Quantitative Reasoning domain is

three times the weight of the other scores. The calculation for the weighted sciences-oriented score is
3Q+V+E
5 .

TABLE FOR CONVERTING WEIGHTED SCORE TO GENERAL SCORE ESTIMATE

Weighted Estimate of General Weighted Estimate of General
Score Score Score Score
50 200 101-105 504-531
51-55 221-248 106-110 532-559
56-60 249-276 111-115 560-587
61-65 277-304 116-120 588-616
66-70 305-333 121 -125 617-644
71-75 334-361 126-130 645-672
76-80 362-389 131-135 673-701
81-85 390-418 136-140 702-729
86-90 419-446 141-145 730-761
91-95 447-474 146-149 762-795
96-100 475-503 150 800

EXAMPLE OF HOW TO CALCULATE AN ESTIMATE

m  The weighted multi-domain general score is:

OF YOUR SCORE (2.129)+(2-100)+103 _ |,
Assume that your raw scores in the test domains This wei > : : .

is weighted score is found in the above table in the
are as follows: 111-115 range, and the corresponding general score
32 correct answers in Verbal Reasoning (total of is in the 560-587 range.

the two sections);

19 correct answers in Quantitative Reasoning m  The weighted humanities-oriented general score is:

(3.129)+100+ 103

(total of the two sections); S =118
28 correct answers in English (total of the two This weighted score is found in the above table in the
sections). 116-120 range, and the corresponding general score

Based on the table found on the previous page: is in the 588-616 range.
The estimate of your standardized score in Verbal
Reasoning is V = 129

m  The weighted sciences-oriented general score is:
(3-100)+ 129+ 103

The estimate of your standardized score in 5 = 106.4

Quantitative Reasoning is Q = 100 This weighted score is found in the above table in the
The estimate of your standardized score in English 106-110 range, and the corresponding general score
is E =103 is in the 532-559 range.

The calculation of your weighted scores is shown
in the box to the right.
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CONVERTING YOUR SCORE INTO PERCENTAGES

The table for converting score ranges into percentages, which appears below, helps you understand the
significance of the scores you obtained. The table is divided into 17 categories of score ranges. The
percentage of examinees whose score is below, within and above the range is given for each range. For
example, a general score of 518 falls in the 500-524 range, and this means that approximately 40% of
examinees scored below this range, approximately 7% scored within this range, and approximately 53%
scored above this range.

The division into categories is solely for illustrative purposes, and does not reflect the admissions policy
of any institution. The conversion of the scores into percentages is based on the entire population of
Psychometric Test examinees in recent years.

TABLE FOR CONVERTING RANGES OF SCORES INTO PERCENTAGES

Percentage of Examinees Whose Score Falls
Score Range
Below the Within the Above the
Range Range Range
200 - 349 0 6 94
350 - 374 6 4 90
375 - 399 10 5 85
400 - 424 15 5 80
425 - 449 20 6 74
450 - 474 26 7 67
475 - 499 33 7 60
500 - 524 40 7 53
525 - 549 47 7 46
550 - 574 54 7 39
B = BIEfS) 61 7 32
600 - 624 68 8 24
625 - 649 76 7 17
650 - 674 83 6 1
675 - 699 89 5 6
700 - 724 94 3 3
725 - 800 97 3 0
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